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Question Number : 1 Question Id : 91394316185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
Which among the followmg is a cognitive characteristic of learner ?

Options :

Sensory percepton
91394363601, y P P
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Belief

91394363602.

Academic self-concept
91394363603,

Level of visual literacy
91394363604,

Question Number : 1 Question Id : 91394316185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

=1 5 | 3 U frened 1 GImes o §?

Options :

913942363601 5[1[ l ﬁf‘q
912942363602, I l ! “ El
3THEHS -

91394363603

¥R G ol W1

91394363604

Question Number : 2 Question Id : 91394316186 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

As a teacher you wish to predict the capacity and potential success in your subject. Your
main purpose is to predict, or to identify individuals who have greatest potential for
development along special lines or who are likely to profit most by special training. Which
test you would apply to accomplish that ?

Options :

Aptitude test
91394363605,

Intelligence test
91394363606

Personality test
91394363607,

Prognostic test
91394363608,

Question Number : 2 Question Id : 91394316186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

91394363605, JAferHd qieqor

g e

913942363606

Sforded TLI&ToT

91394363607,

913943636083, 1“

Question Number : 3 Question Id : 91394316187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to Jean Piaget, there are stages of cognitive development.
Options :
91394363609 2
91394363610, 2
6
91394363611,

91394363612, 8

Question Number : 3 Question Id : 91394316187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

S st & SR 99 fowe & T B1d & |

Options :

913943636089, 2

91394363610.
91394263611.

91394363612, 8
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Question Number : 4 Question Id : 91394316188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
John Dewey explained school as a/an institution, and education as a
process.

Options :

Social, philosophical

91394363613.

o1304363614 O0clal, social

Economical, philosophical
91394363615,

Environmental, psychological
91394363616,

Question Number : 4 Question Id : 91394316188 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
St Sl A foaed & e 3R fren &1 & gishaT el € |

Options :

91394363613, wm’ wﬁa;
TS, IS
AT, TS

ST, AR

91394363614,

91394363615,

91394363616.

Question Number : 5 Question Id : 91394316189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Who among the following proposed theory of Multiple Intelligencies ?
Options :

Sigmund Freud

91394363617,

T Howard Gardner

a1394363619, 1IDert Einstein
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91394363620, Jean Piaget

Question Number : 5 Question Id : 91394316189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
SgfaY U9 & T9gid o1 gidured feifed o 9 feaq fean?

Options :

faHe wiae

91394363617.

REICRIIEET

91394363618.

91294236143, [E Ié "s E?:I I
EIGRACRIE

91394363620.

Question Number : 6 Question Id : 91394316190 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Empirical research in social sciences is associated with :
Options :

91394363651 Fictional narratives

01294563655 Positivist philosophy

91394363623 Historical artifacts

Religious practices
91394363624,

Question Number : 6 Question Id : 91394316190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A S A e T St 8 8 e w30

Options :

91394363621. hicdlch h=

HHRHE <IH

91394363622.
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91394363623, l
HTfHeh gl

91394363624,

Question Number : 7 Question Id : 91394316191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Reasoning from a specific case to a general conclusion is known as :

Options :

Scientific logic

91394363625.

Inductive logic
91394363626.

Deductive logic
91394363627,

Theoretical logic
91394363628,

Question Number : 7 Question Id : 91394316191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et fafire arael & 9mr frerd 9 & o o Frefafea 8 9 o 931 < S £

Options :

91384363625, [E“{ B aﬁ;

TS e
91394363626

IBUCEIR:EIGED

91394363627,

Hgifaer T

9139436362E.

Question Number : 8 Question Id : 91394316192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The purpose of review of literature includes :
(a) To understand the subject background

(b) To formulate research questions

(c) To find out relevant methodology

(d) To debate the ethical aspects of research
() To carry out meta analysis of bibliography
(f) To identity the data sources

Code :

Options :

(), (b), (c) and (d)

91394363629.

91394363630, (b), (c), (d) and (e)
91394363631. (a), (b)’ (C) and (f)

91394363632, (), (d), (e) and (f)

Question Number : 8 Question Id : 91394316192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optmn Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Wﬁﬁw%ﬁmnwﬁa%

(a) Too@ =61 TYfH = THEA

(b) I YA 1 faufed e

(c) T YGId o1 9dl Tl

(d) ¥NY ok HfaTa WA W IR-faeg wT
(e) uau;ﬁmmﬁsﬁwm

(

Options :

s1394363629, (&) (B), (€) AR (d)
91394363630, (b), (¢), (d) 3R (e)
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91394363651, (a), (b)’ (C) ﬁT (f)
(), (d), (¢) 3 (F)

91394363632,

Question Number : 9 Question Id : 91394316193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
If you are to calculate Spearman’s rho, what kind of data you would enter ?

Options :
91394353633 Actual scores

91394363634 Ranks

SiSbdsEeEEE Dichotomous data

91394363636. No 1al data

Question Number : 9 Question Id : 91394316193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gfe ATYeR TR & U 1 IReha HET 81l 319 fohT TopR & 3Tk Ufa® &t ?

91394363633, l Ell Ih HI

91394363634. E b

EC ISR | E o

91394363635.

AMHE 3ATFHE
91294263626, *

Question Number : 10 Question Id : 91394316194 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :
A variable that measures the effect of a manipulated variable, is known as :

Options :

T Independent variable
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Dependent variable

91394363638
o1394363830, —onfounding variable
01394363640 —oNtrolled variable

Question Number : 10 Question Id : 91394316194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
=R, Torad |ifa =) o 99 o1 |59 g1 § 1S9 frefafea § 9 o g S S § 2

Options :

91394363637, AqdA =

91394363638, ”[% =

fafga =R

91394363639.

fafFa =R

91394363640,

Sub-Section Number: 2
Sub-Section Id: 913943816
Question Shuffling Allowed : Yes

Question Id : 91394316195 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label | Comprehension
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Read the following passage carefully and answer questions from 11 to 15.

It has to be noted that, although certain overall results had been obtained in the matter of
economic growth in the developing countries regarded as a group, little progress had been made
towards the establishment of the new International economic order within the
framework of negotiations among nations for the purpose of applying the principles adopted in
1974 by the United Nations General Assembly. The situation appeared to be marked by a slowing
down at world level in the effort to find a solution to most of the major problems, due to certain
inability to control the evolution of societies and economies, and a fairly widespread feeling of
uncertainty as to the future. The changes which have occurred between 1978 and 1980 have only
magnified the difficulties, so that today there is much talk of a deterioration in the international
situation. This is immediately apparent in regard to inequalities between human beings, whether
considered as individuals or groups or nations. Overall economic disparities have not been
attenuated. In many countries, per capita gross national product remains less than $ 300, while in
others it is situated at levels ten, twenty or even thirty times higher than this amount. In some rich
countries, the average income is a hundred times higher than in the poorest countries. Particularly
drastic is the state of penury, destitution and, all too often, homelessness of those populations that
may be regarded as history’s most recent rejects: the disinherited masses of the poorest countries.
In these countries, whose economic situation is particularly critical, the problems of hunger, disease
and ignorance experienced by a large part of the population seem to all but paralyse efforts made
to cope with them.

Sub questions

Question Number : 11 Question Id : 91394316196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
What was the purpose of principles adopted by the United Nations General Assembly ?
Options :

Considerineg developing countries as a egrou
91394363641, 5 pmg a group

o1394563640 ODtAINING results in the economic growth of developing countries

. . +Q 1< hi r 3 - st _
S _ Establishing a new international economic order

91394363644, Permitting negotiations among nations

Question Number : 12 Question Id : 91394316197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the consequence due to the little progress made by nations during negotiations ?

Options :

9139438364c Bvolution of societies

GBS E e Control of economies
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91394363647 UN intervention

01394363645 Uncertain future

Question Number : 13 Question Id : 91394316198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is apparent due to the changes occurred between 1978 and 1980 ?
Options :

01394363645, L 1aN adjustment

Ty Support of rich countries

Reduction in poverty
91394363651

01304363650 NN€quality between human beings

Question Number : 14 Question Id : 91394316199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
How economic disparities are reflected ?

Options :

$ 300 per capita GNP as benchmark

91394363653,

Collectivising individuals into groups or nations
91394363654,

Higher average income for poor countries
91394363655,

R Average income of some countries is a hundred times higher than in the poor countries

Question Number : 15 Question Id : 91394316200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Whom do you call as history’s recent rejects ?
Options :

o13043a3s5, 1omeless population
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s1384363655, Lonorant population

o1394363659 LATge part of population

S—— Rich countries

Question Id : 91394316195 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label | Comprehension

freiferd aftsse il FragrIYEs 18 3R 99 11 9 15 & W < |
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Sub questions

Question Number : 11 Question Id : 91394316196 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

o Tt {10 3iiiehd fagial =1 o1 353 o012

Options :

forenTarsiiet <2 <hl Tk HHE |

91394363641.

ToreprTaeiieT <30 H S T & TROMH YT AT

91394363642,

Teh a3 saaee Snfud

91394363643.
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91394363644.

Question Number : 12 Question Id : 91394316197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fraiedl o SR T g et 319 Wi ohT 371 iomd 82
ptions : ‘a:‘T

91394363645,

AdHLAI3 1 T

91394363646,

G T =l ST

91394363647,

AT vfa=

91394363643,

Question Number : 13 Question Id : 91394316198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
1978 9 1980 % o=l EU dIScATdl <kl 1 Wehe IRUTH g1 € 2

Options :

IS FURITSH

91394363649,

3HR <9I Al GH

91394363650,

TEl H A

91394363651,

A o S A

91394363652,

Question Number : 14 Question Id : 91394316199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

3fefer fawmarl 9 Reterd 2 8 2

Options :

o12045c30cs T 6 ®9 H 300 SR Ufd =l i TA.91. |
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91394363654,

TS <90 1 3T 3T9d 377 |

91394363655,

FS W i A 3 A TS S 1 M6 3§ 100 7O 3A{Yeh 2|

91284362656,

Question Number : 15 Question Id : 91394316200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Mg fop iR o1 oy sfeshd U™ Fed & 2
Options :

91394363657, “ | | l % | | [ :I

91394363658, |’” ” | | “

913943636583. IS :l aﬂa@ﬁ |E i
- ITHR

91394363660

Sub-Section Number; 3
Sub-Section Id: 0913943817
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394316201 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
In classroom communication, analogies are considered :
Options :

91394363661, Supporting evidence

g Unwanted information

91394563663, Control devices

T — Attention-breakers

Question Number : 16 Question Id : 91394316201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
T HUTO H YT Sl FA1 AT S & 2
Options :

91394363661 qrds |

_aaﬂ%gaﬂjm

91394363662

_ﬁa‘ﬂmm

91394363663

91394363664,

Question Number : 17 Question Id : 91394316202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Assertion (A) : Empathy is essential for effective communication between the communicator
and the communicatee.

Reason (R) : Empathy links the teacher and students.
Code :

Options :

91394363665. Both (A) and (R) are true

Both (A) and (R) are true, but (R) is not the correct explanation of (A)
91394363666,

o1394383667. (A) Is true, but (R) is false

01304363865 (b) 18 false, but (R) is true

Question Number : 17 Question Id : 91394316202 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

aﬁmm (A) : WWM$$HWW$WW%W%I
T (R) : Tayfa foers ik ®& % <= =t w8
C

Options :

(A) 3R (R) S TR B

91394363665.
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(A) T2 B, T (R) T 7 €

91294ZE36EE.

91394363667.

(A) T&l 7@l §, Tohdg (R) T2 €|

91394363663.

Question Number : 18 Question Id : 91394316203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Computer - assisted language learning is called :
Options :

91394363669. Alded lear 5

91394363670, Communicative call

o1394363671 Language logic

Electronic mediation
91394363672

Question Number : 18 Question Id : 91394316203 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

IR NI AT SATH 1 F97 gl S § 2

Options :

Jfer =fera s

91394363669,

HUYUTIcHR hic

91394363670.

YT dh

91394363671
Q@I%H:’-ﬁ HEqR]]

91394363672,

Question Number : 19 Question Id : 91394316204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The word “haptics” denotes :

Options :
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Spa tial communication
91394363673,

S{SEAERER Tmmely communication

Stagoered communication
91394363675, 58 ¢

Tactile communication
91394363676.

Question Number : 19 Question Id : 91394316204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

i hd ? £
oot dhwor foge’ wee o 31 ¥

Options :

- TR HYWOT
Y1 THY HY0

91394263673

91394363674

ST WY

91394363675

- TR T

91394263676

Question Number : 20 Question Id : 91394316205 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Social media platforms have created a :
Options :

s1504363677. OCIety of reactionary opinions

91394363678 Society of consumables

Society of negativity

91394363679.

Society of networking
91394363680,

Question Number : 20 Question Id : 91394316205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

- faisharcaes ST 1 HHS

91394363677

SUHrY ={ISi S HHS

91394363673

ThNHD HHIS
91394363679

_ﬁmﬁﬂwm

913943636380

Question Number : 21 Question Id : 91394316206 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If DICE is coded as FLG]J, then the code for BITE will be :
Options :

91394363681, DLX]

DKYH

91394363632,

913943636853. DKVY

DICL

91394363634.

Question Number : 21 Question Id : 91394316206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ifg DICE %1 %< FLGJ ¥ @ BITE o1 %< 21 :

Options :

913942363681, DLX]

DKYH

91394363632.

91394363683. DKVY

DICL

91394363634.
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Question Number : 22 Question Id : 91394316207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The next term in the series 7, 11, 19, 35, 67, IS.

Options :

] 91—
91394363685. 121

91394363636. 133

91294363687, 131

91394363658, 99

Question Number : 22 Question Id : 91394316207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
79 @ § P Ue ¥ 1 7, 11, 19, 35, 67, |

Options :

] 91—
91394363685. 121

91394363636. 133

91394363657, 131

99

91394363688,

Question Number : 23 Question Id : 91394316208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The next term in the letter series KB, |JH, IM, HQ, GT, 1S.
Options :
91394363633, EY

91394363690, FV

FU

91394363691,

91394363692, EU
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Question Number : 23 Question Id : 91394316208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frefafaa aoigra § o7Ten U€ § - KB, JH, IM, HQ, GT, |

Options :

EY

9139436368589.

91394363690. FV

FU

91394363691,

91394263692, EU

Question Number : 24 Question Id : 91394316209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Choose the word which is different from the rest ?

Options :

Paper

91394363693,

91394363694 Wool

91394363695, Tlastic

Jute

91394363696.

Question Number : 24 Question Id : 91394316209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frfafaa ° 9 90a o= AT .
Options :

91394363693. g

913942636594,

A h

91394363695,

91394363696, E
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Question Number : 25 Question Id : 91394316210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Pointing to a man, Abhijjit said “His grand daughter is the only daughter of my brother”.

How is the man related to Abhijit ?
Options :

syagusezesy. L ALNET

13943636958 Grandfather

91394363690 Lncle

Brother-in-law
91394363700,

Question Number : 25 Question Id : 91394316210 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fordlt g9 hi ST ST hd B SATSHT 3 a1, SHeht Uit Y WIS A1 STeha] st B1'
S 3eHl 1 AfSHa § = day 2

Options :

91394363697.

<lal

91394363693.

91334363699, =l

AGX—S 11l
91294263700,
Sub-Section Number: 4
Sub-Section Id: 013943818
Question Shuffling Allowed : Yes

Question Id : 91394316211 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Question Label : Comprehensi-:sn
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[tems of Expenditure (¥ in crores)
Year | Salary | Fueletc | Bonus |Interest on Loans| Taxes
2008 57.6 19.6 0.6 4.68 16.6
2009 68.4 224 0.5 6.50 21.6
2010 64.8 20.2 0.76 8.32 14.8
2011 67.2 26.6 0.74 7.28 17.6
2012 84.0 28.4 0.80 9.88 19.6

The above table shows details of expenditure incurred by a tea garden during the years 2008
to 2012. Note that all expenditure reported is in crores.

Answer the following questions based on the data given in the above table.
Sub questions

Question Number : 26 Question Id : 91394316212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The average yearly expenditure on “Interest on Loans” during the period 2008-2012 was
approximately.

Options :

1394363701 RS. 6.33 crores

91394363702, RS- 6.88 crores

Rs. 8.32 crores
91394363703,

51564565764 1% .03 Crorey

Question Number : 27 Question Id : 91394316213 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Bonus as a percentage (%) of salary was highest in the year ?

Options :

s
91394263705, 2008

91394363706. 2009

2010

9139423683707.

2011

91394363703.
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Question Number : 28 Question Id : 91394316214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which year, was the total expenditure (over the five heads of expenditure listed in the

table above) the least ?
Options :

2008

91394363708,

2009

91394365710.

2010

9129423711,

2011
91394363712,

Question Number : 29 Question Id : 91394316215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
In which years, the percentage (%) growth of expenditure on salary (as compared to the
previous year), was more than 10% ?

Options :

91394363713, 2009 and 2010

s1394363714 201U and 2012

201" 2012
91394363715. 2011 and 2012

2 2012
91394363716, 2009 and 2012

Question Number : 30 Question Id : 91394316216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which year, the expenditure of taxes and “Interest on loans’, was less than the expenditure
on fuel etc. ?

Options :

2009

91394363717.

2010

91394363718.

? |
91394363719. 2011
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2012
91394263720, 2012

Question Id : 91394316211 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Question Label : Comprehensi-:}n

el 1 AT (FAST H)

GL] I [ sfe| A9 |FiwREN| W=
2008 | 57.6 19.6 0.6 4.68 16.6
2009 | 68.4 22.4 0.5 6.50 21.6
2010 | 64.8 20.2 0.76 8.32 14.8
2011 | 67.2 26.6 0.74 7.28 17.6
2012 | 84.0 284 0.80 9.88 19.6

wﬁaamfﬁmaﬁzobs ﬁzmz#aﬁm@mw%@##ﬁwﬁ@m%l I qHE H
o T =g R T | 2

SYd qifeiRT § Yo kel % SMUR W F=tifehd Wi % SW T |

Sub questions

Question Number : 26 Question Id : 91394316212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g9 2008 - 2012 T AT % SRE B R =N W SEd aifte =3 9|
Options :
T 6.33 FUS T

91394363701.

T 6.88 HUS T

91394363702,

T 8.32 HUS T

91394363703,

T 7.33 FAS T

91394363704,

Question Number : 27 Question Id : 91394316213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

I ol GTd9Edl < ¥9 § 99 69 99 S=q9 917

Options :

2
91394263705, 2008
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91294363708, 2009

2010

9139423683707.

21"
91394363703. 2011

Question Number : 28 Question Id : 91394316214 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optiun Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

mwﬁwwﬂ(sﬂaﬁmﬁmm%mﬁwmmmm?

Options :

2008
91394363709,

2009

91394363710.

91394363711. 2010

2011
91394363712.

Question Number : 29 Question Id : 91394316215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

forg a8 H 9a9 W =9 | gfaeradr gfg (Tree au =61 e #), 10% 9 314w o4 ?

Options :

91394363713 2009 31 2010

91394363714, 2010 3R 2012

2011 3R 2012

91394363715,

a1394363715. 2009 3R 2012

Question Number : 30 Question Id : 91394316216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optiun Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

forg Ty, & 3R ﬂzﬂﬁmm R I YA TS T I i ol § HH 91?2

Options :
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91394363717. 2009

2010

913943637183.
913943637189.

91394263720,

Sub-Section Number: 5
Sub-Section Id: 913943819
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 91394316217 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Two propositions are contradictory when,
Options :
130436370 1 TUth of one proposition implies falsity of the other and vice versa.

S Truth of one proposition supposes the falsity of the other and vice versa.

S Truth of one proposition doesn’t guarantee the falsity of the other.

Truth of one proposition rejects the falsity of the other and vice versa.
31394363724, -

Question Number : 31 Question Id : 91394316217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A=A R fadiedt 2t § 5d;
o Teh {1 61 A T 1 o aaran g iR facma: 5 2ar 7

91394363721.

Teh WA b1 W TR o1 T 1 Gl <l § 3R faeima: T 3

91294363722,

Teh HIIAT 1 9 QY i T at TR 7181 <l |

91394363723.

Teh [T 1 ¢ GEX i THar &1 & Hal ¢ 3R faaa: T g € |

91394363724,
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Question Number : 32 Question Id : 91394316218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Among the following identify two statements which are m such a relation that the truth of
one implies the truth of the other, but not conversely.

Statements :

(a) All plastics are synthetic.

(b) Some plastics are synthetic.

() Some plastics are not synthetic.
(d) No plastics are synthetic.

Code :

Options :

(a) and (b)

91394363725,

a) and (c)

913943637 26. (

(a) and (d)

913942383727.

(b) and (d)

91394363723.

Question Number : 32 Question Id : 91394316218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefafaa 8 § T8 1 el &1 e S S U8 ey § 3 fo e 1 9@ g % S %l 9 & Wy
foretrHa: T =7t 811 g |

¥ :

(a) T i A= €|

(b) FS W AT € |

©) F3 wies Hiese 78 B

(d) R =S Hivee 78 7

e :

Options :

(a) 3T (b)

91394363725,

(a) 3R ()

91394363726,
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(a) 3R (d)

91394363727.

(b) 3R (d)

91394363728.

Question Number : 33 Question Id : 91394316219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the argument which involves a leap from the known to the unknown.
Options :

0139456375 Deductive argument

Reductive argument
91394363730,

Inductive areumen
91394363731, ductive argument

Analogical argument
91394363732,

Question Number : 33 Question Id : 91394316219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

39 Th hi Y e Ty J1d U 31T Tk ol THA IMHA ©

Options :

AT ek

913343637289,

STATCHS T
91394363730, %

TS o
91394363731,

91394363732, ;

Question Number : 34 Question Id : 91394316220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two premises (A and B). Four conclusions are drawn from them. Select the
code that states validly drawn Conclusion(s) (taking the premises individually or jointly).

Premises :

(A) No non-literates are graduates.

(B) Al non-graduates are non-teachers.
Conclusions :

(a) All teachers are non-literates.

(b) All teachers are graduates.
(c) All non-teachers are non-graduates.
(d) No non-literate is a teacher.

Code :

Options :

(a) and (b)

91394363733.

91394363734, (b), (c) and (d)

(c) and (d)

91394363735.

(b) and (d)

91394363736,

Question Number : 34 Question Id : 91394316220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e 3 e e (A 3 B) fRu e ¥ | S =R frekd Ferrel T | ST Fe B =aT B S (STER
TRl 1 Thd 91 9o 9 H oY) 99 §9 9 el e femst = o4 2
ST e

(A) E off TReR Fas 714 T

(B) Wefi TR Tk fetehe ¥ |

foremet

(a) |t forerer Fram 21

(b) | ek EaE £ |

() |l fgrerd TR ek g |

(d) E +f FReR frerw =i €

2

Options :

(a) 3R (b)

91394363733.



www.prepp.in .repp

Your Personal Exams Guide

(b), (c) 3R (d)

91394363734.

(c) ¥R (d)

91394363735.

(b) 3R (d)

91394363736.

Question Number : 35 Question Id : 91394316221 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
The argument which claims that its conclusion is supported by its premises conclusively is :

Options :

s1394363737. Linalogical argument

o13943a3735  nductive argument

Demonstrative argument
91394363739,

Deductive argument
91394363740,

Question Number : 35 Question Id : 91394316221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e Sl I8 < Fl & T sqeh o Aorfges &7 @ 3% 3R a1 g ARG €; e € ¢

Options :

HHATIh doh
91394363737.

JMTHATHS o
91394363738. ¥

qaATeHE doh

91394263739,

IBULE IR EAGED

91394363740.

Question Number : 36 Question Id : 91394316222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If the binary equivalent of the decimal number 53 is 110101, then the binary equivalent of the
decimal number 50 is given by :

Options :
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91394363741, 110011

91394363742 110010

110001

91394363743.

91394363744, 110100

Question Number : 36 Question Id : 91394316222 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ife e €@ 53 F TH GUqed (A Igedeie) 110101 ¥ @ M 9@ 50 F I
REGORUIE

Options :

91394363741. 110011

91394363742, 110010

110001

91394363743.

91394363744. 110100

Question Number : 37 Question Id : 91394316223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following is not part of suite of products of Microsoft Office ?
Options :

91394363745 Microsoft Excel

91294363746, Microsoft PowerPoint

e —— Microsoft Publisher

91394363745 Microsoft Windows

Question Number : 37 Question Id : 91394316223 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optiun Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Wﬁ@ﬁﬂmmmw(g&)wﬁwﬁ%7
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Options :

9129423745, [|5'| Rk Ell‘l

91394363746. : :

91394363747, “s:[ (A% || RN
91394363743. | 5

Question Number : 3§ Question Id : 91394316224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
The Internet began with the development of :

Options :

USENET

913343637483,

91394363750, LXtranet

ARPANET

91394363751,

91394363752, 1ntranet

Question Number : 38 Question Id : 91394316224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
$2UTE hi YEIA Tohdeh fod 9 g3 2

Options :

91394363749. [\
91394363750. ‘ g

91394363751,

ECAR T

91394363752.

Question Number : 39 Question Id : 91394316225 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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RFID is an acronym for :
Options :

Roaming Frequency Identification
91394363753,

—— Radio Frequency ldentification

Runtime Frequency Identification
91394363755.

. Remote Frequency Identification

Question Number : 39 Question Id : 91394316225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
SR UE, 3TE. 1. ToFaen vree-Hary © 72

Options :

91394363753, E”il | [§55|§|5i| 3"33[?5‘ |;§|;g||

913943e3754. i ” i1| |[|| ”5 I Il hxT
91394363755. :

91394363756. ;

Question Number : 40 Question Id : 91394316226 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
Bluetooth is an example of :
Options :

91394363757, PAN

91394363758, LAN

MAN

913943637589.

WAN

913942637¢€0.

Question Number : 40 Question Id : 91394316226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

12y Tt SR §2

Options :

91394363757. ﬁt{_t{-‘-{

TA U

91394363758.

91394363759, ‘qq'-q"‘q:['

9129423760, l\t{"q‘:[

Question Number : 41 Question Id : 91394316227 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Recently in Brazil, a bacterium showed the antibiotic resistance, which was not reported
previously :

Options :

Pseudomonas species
91394363761,

Salmonella species
91394363762,

91304363763, 1lebsiella species

Streptoco ccus sp ecles
91394363764.

Question Number : 41 Question Id : 91394316227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
2l & W siehier # forg siam) ¥ wfg-Sifae (ddamifes) afiy foar fea St weer 9@ <@l o

Options :

91394363761, E
YT TS

ESEINKIRSINIE

91394363762,

91394363763.

TR d TS

912394363764. *
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Question Number : 42 Question Id : 91394316228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

One of the following has a positive human influence on the environment :
Options :

o13043a376s  Leforestation

Over population

913943263766

o1394363767 L ollution

9139438376z onservation

Question Number : 42 Question Id : 91394316228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frafafeg 8 9 forde qafet W YhRicHs aHa-999 g 2

_aﬁfﬁmlé

91394363765

e IEIE

91394363766

91394363767. ;1\

*

RSEt |

91394363763.

Question Number : 43 Question Id : 91394316229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion (A) : The environmental impact of soil erosion can best be mitigated by removing
vegetative cover only from the specific site on which construction is to take

place.

Reason (R) : The environmental impact of soil erosion can also be mitigated by disturbing
the vegetation in adjacent areas as little as possible.

Code :

Options :

SSeisessas Both (A) and (R) are true and (R) is the correct explanation of (A)
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_ Both (A) and (R) are true but (R) is not the correct explanation of (A)
91394363770,

o1304363771. (A) Is true, but (R) is false

o1394363772. (AA) 18 false, but (R) is true

Question Number : 43 Question Id : 91394316229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ANTRIT (A) : TS WS o YIS YUTE bl ket Taior &6 & foq e o fa9e 9
FAERT 1 TR gd 34 HH fFT1 I el |

ek (R) : TR STIE o GATaONg JH1E hl GHITEd! &3 § gt # qRacd aee o &H
foman <1 goha B

?:

sissisasses (A 3R (R) ST & g, 3R (R) (A) =l FEI =R g

sisaisesse ) S (R) ST w g, T (R) (A) T TEl = T& g

91304363771 () e ¥, foh=g (R) TTeTdl 2|

sissazeszre () TSI &, fog (R) W& B

Question Number : 44 Question Id : 91394316230 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion (A) : Hydropower is an exhaustible energy resource.

Reason (R) : The power of falling water would neither diminish nor get exhausted.
Code :

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)

91294363772,

91394363774, Both (A) and (R) are true but (R) is not, the correct explanation of (A)

o1394363775. (A) Is true, but (R) is false

Both (A) and (R) are false

91394363776.
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Question Number : 44 Question Id : 91394316230 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AR (A) : ST ol 1 THTK B el GH1EH & |
T (R) : fRd B ST &t SItaRa 11 o 69 &1 =71 & 99T & |
he :

Options :

 (A) 3R (R) ST WE € IR (R), (A) T WE =01 €|
(A) 3R (R) 2F1 TE ¥ T (R), (A) Tt T =aren 72 &

91394363773

91394363774.

_(A)H‘r?r%,ﬁﬁ(k)wa%l

91394363775

(A) 3R (R) SF1 T4 € |

91394363776,

Question Number : 45 Question Id : 91394316231 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
In the scheme of life, soil is an essential resource of life, as it plays the following roles.

(a) Itis a reservoir of carbon.

(b) It is the medium for growth of food and energy for the animal world.
(c) It provides oxygen to the biotic community.

(d) Itis a natural reservoir for the huge amount of water

Select the correct answer from the above :

Options :

o1394363777 (@), (b) and (c)

(a), (b) and (d)

91394363778,

(b), (c) and (d)

91394363779.

(a), (c) and (d)

91394363750.

Question Number : 45 Question Id : 91394316231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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STt | ga1 Siiaq T STavds 9a1e § Fifeh 39! e 39 UHR ©
(a) 9T HIET H qUER T |

(b) I SI=g ST o T @ 3R o1l &1 Ggig 1 AIEH T

(c) THY S TR & o fiewd 3

(d) IE T FH S T T THiiTE YUER g |

39 H 4 gl faeey gfu .

Options :

(a), (b) 3R (c)

91394363777.

(a), (b) 3R (d)

91394363778.

(b), (c) ¥R (d)

913394363779.

(a), () AR (d)

91394363780,

Question Number : 46 Question Id : 91394316232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

In terms of year of establishment, which open university is the youngest among the following
(established most recently) :

Options :

Tamil Nadu Open University, Tamil Nadu

91394363781.

Odisha State Open University, Odisha

91394363732,

o13043aa7es rishna Kanta Handique State Open University, Assam

Pt. Sunderlal Sharma Open University, Chattisgarh

913942363784.

Question Number : 46 Question Id : 91394316232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TIYAT o oY o forer 9 Freifera § 9 fohe gaa favafaaneaa 1 e 9ed o § 8 2

Options :
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aferTg Hoa favafaeme, afrarg
91334363781, . 4 |
 snfewn T g favafamnem, snfewm

91394363782

91394363783

91394365784

Question Number : 47 Question Id : 91394316233 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Match the following :

Set-1 Set - 11
(a) Swayam Prabha () FM education radio network
(b) GIAN (Global institute (i) Internet audio counselling service
of Academic Network)
(c) Gyan Vani (ii) Free DTH channel for education
(d) Gyan darshan (iv) Talent pool of scientists and entrepreneurs for
engagement with Indian higher education institution
(e) Gyandhara (v) Educational Television Channel
Code :
(@ ) © @ (e
Options :

91394363735. (1) (H) (V) (IV) (H_l)

sisoageares, ) (@D () @ (V)
91394363787 i) (@) @O (v (@

(v) @) @ @) @

91394363758.

Question Number : 47 Question Id : 91394316233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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freifera o1 gRiaa &Y
-1 wqg- 11
(a) I () UHh.UH. TR Wedr Jeash
(b) SLIELE. (e RIS (i) T g GUHY Hal
AT Thefn Jeaeh)
(c) =IOl (i) Torem & foe fyes A =
(d) M (iv) YR SR fren deamsi o wry foere s
& ToTu AT IR =T 1 gfast q@
(e) STHN v) e celifasm =a
2

@) () (© @ (@

Options :

91394363735. (1) (]_I) (V) (IV) (I_Ll)

sissisesyes ) @) @& O (@
s13043637g7. WD) (V) (@) (v) (1)

(v) () (@) @) ()

91394363788,

Question Number : 4§ Question Id : 91394316234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (
The institutions of eminence tag granted by the union government in public sector are :

(a) 1T, Delhi

(b) IIT, Bombay

(c) Jawaharlal Nehru University, Delhi
(d) University of Hyderabad

(e) Pondicherry University

()  Indian Institute of Science

Code :

Options :

91394363739, (@), (b), (d) and (e) only

(b), (c), (e) and (f) only

91394363790.
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91394363791, (@), (b) and (f) only

(c), (d), (e) and (f) only

913942363792,

Question Number : 4§ Question Id : 91394316234 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optmn Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

er{?rwakﬂﬁzﬁ &7 1 fop galcpte GXam o1 gl faar &2
(a) 3TT§3T|§E'T, et
(b) IRE.3E., i

(c) SR J8& favdfaem, faei
(d) Tere favafammer™
(
(

e) TIftg={l foavaf=me™
f) ARG foage SEmE
che :

Options :

fa® (a), (b), (d) 3R (e)

91394363759.

fad (b), (c), () 3R (f)

91394365790,

fa® (a), (b) 3R (£)

91394363791.

% (), (d), (e) SR (f)

91394363792.

Question Number : 49 Question Id : 91394316235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following was launched on 2 October 1978 (the birthday of Mahatima
Gandhi) ?

Options :

National Adult Education Programme
91394363793,

01304363794, DAUSAT
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First educational radio channel
91394363795,

10+ 2+ 3 Scheme
91394363796,

Question Number : 49 Question Id : 91394316235 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frreifera § 9 79 2 STeReR, 1978 (W it =61 579 o) o1 Uiy foam o o ?

Options :

T Uie et srishd

9133943637 933. =

912394263794, 5
oW Sifeyes Ifed = o
10 +2 + 3 ISl

91394363795.

913943637 96.

Question Number : 50 Question Id : 91394316236 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
On the recomendations of which commission, 10+ 2+3 structure was incorporated in the

statement of National Policy on Education, 1968 ?
Options :
91394363797, Kothari Commission

S SRR Mudaliar Commission

I mm— Ramamurtt Commission

Mandal Commuission
91394363800,

Question Number : 50 Question Id : 91394316236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
forg 3T &1 TR T 10 +2 + 3 &, T e +ifd, 1968 & gadqed 4 wiye &l . o ?

Options :

SIS 3TN

91334363797.
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9129423738, 5

912394363799, 11
TS AN

91394363500,

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Section Id :

Section Number :
Section type :
Mandatory or Optional:
Number of (Questions:

Number of Questions to be attempted:

Section Marks:
Display Number Panel:
Group All Questions:

Sub-Section Number:

Sub-Section Id:

Question Shuffling Allowed :

Paper II

2
013943214
120

120

No

No

0

200

15 Population Studies

013943214
1

Online
Mandatory
90

90

200

Yes

No

1
013943820
Yes

prepp
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Question Id : 91394316237 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No
Question Numbers : (51 to 50)

Question Label | Comprehension
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Read the paragraph given below and answer questions :

Women tend to live longer than men, they represent a growing proportion of all older
people. Worldwide in 2017, 55% of adults aged 60 years and over were women, a proportion
that rises to 58% at age 70 and above. Ageing is sometimes assumed to be a concern mainly
in countries with low birth rates, high incomes and effective geriatric health care. But in
fact, the developing regions of the world are home to the majority of the older women. In
2017, there were 280 million women aged 60 years and over living in low and middle
income countries, compared with 119 million in high-income countries. By 2050, 84% of the
population over age 60 is expected to be living in countries currently classified as low and
middle income.

Cardiovascular disease, often thought to be a ‘male’ problem, is the main killer of older
people of both sexes. In fact, each year cardiovascular disease causes a larger number of
deaths in older women than in older men — 8 million women over 60 years of age compared
to 6 million men in 2004, Chronic heart disease accounts for 45% of deaths in women over
60 years of age. A further 15% of deaths are caused by cancers.

Sub questions

Question Number : 51 Question Id : 91394316238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the ratio of death due to cardiovascular disease among elderly men and women ?

Options :

91394363801, 3
91394363802 ° 4
91394363803 2 °
91394363804, ° 2

Question Number : 52 Question Id : 91394316239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Which of the following will be the ratio of elderly population in developed vis-a-vis low and
middle income countries by 2050 ?

Options :

91394363805, 0 5°

91394363306, 084

91394363807, 1159
18 : 82

91394363503.
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Question Number : 53 Question Id : 91394316240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following statements are true ?

(i) Women live longer than men.
(ii) Women are more among the elderly population.

(ili) Developed regions are the home of majority of elderly women

Choose the correct answer from the code given below :

Code:

Options :

Only (i) and (ii) are true.
91394363808%.

Only (i) and (iii) are true.
91394363810.

Only (ii) and (iii) are true.
91394363811.

All (i), (ii) and (iii) are true.
91394363812.

Question Number : 34 Question Id : 91394316241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What percentage of deaths among the elderly women are occurring due to non-cancerous

diseases ?
Options :
5151
91384563381 3.
91394563814, 65
913845363815. o
85
9138453633816.

Question Number : 55 Question Id : 91394316242 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following will be used to find out the percentage of elderly women living
in low and middle income countries ?

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all
candidates.
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Options :
115 100
91394363817, 389
270
x 100
91394363815, OO0
3% 100
91394363819, 270
‘)F‘
270 . 100

91394363520.

Question Number : 56 Question Id : 91394316243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

Which among the following arrangement of causes of death among elderly women is correct
in descending (high to low) order ?

Note: For this question, discrepancy 1s found in question/answer. So,this question is ignored for all

candidates.
Options :

Chronic condition, cancer, other diseases
91394363821.

Other diseases, chronic condition, cancer
91394363822,

Cancer, chronic condition, other diseases
91394363823.

Cancer, other diseases, chronic condition
91394363824.

Question Id : 91394316237 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (51 to 50)
Question Label : Comprehension
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e e e srede @i uie ot el % sw iR ;

wigensil § TE9l S qo1 § 161 4 THE T S ol NG @it S 7 | At 3g | v §
IFHT AT IS F@a1 S 1 2 | 99 2017 ¥ fawa s & 60 99 ofk 358 21 o1y & i §
55% Wifgamd off SR 70 99 wd Iu@ it Sy & Tl U IR HIG TEH 58% T W@1 B |
JETae it geua: -t = I R, 39 A/ R yuTed 95 e wieat are 2wt # faar
farsa W foran St B | 9eeg, Aad # sty 3¢ wieand faga & fosmasfier &6t 4 wdt 3 1 2017
H, 60 99 3 35 Aftes 3y it 280 Fuferm wfgend Fra it werm o o < 3 ® @ off, 5@
fh 3= 271 Arct ¥ e W 119 fiferaa oft | Tt amran @ 5 96 2050 7 60 99 @ fers
3T ATl FHEEAT il 84% Teean 37 <ot § © W1 3 Fomg 99§ T3 it e o1 91 <9t %
&g # arffera foma e 2 |

geaaTet gt T, Pt IR 7OV e W W §, St e % g il i vt s ged s

R | areaq #, v ad geaafeh dadh Am % Few 95 et i gon § 35 wikenst S @ s gen
Bt § — 99 2004 W 60 99 @ A% 3y 5 6 faferw gt it dliat it g # 8 faferm
Aigensit i W g3 | 60 39 & fter sy i wigensdi H Hial 7 45% Wid S0l 557 U % HRO gl
% 3 165% witd Hat o R0 A 7 |

Sub questions

Question Number : 51 Question Id : 91394316238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Jg Teut 2R ufgenet # sgganfeit wadt Wi % wror I9 areht Hidt w5 s | R 2

Options :

91394363801, 175

91394363502. .
2
91394363503.

91394363504, s

Question Number : 32 Question Id : 91394316239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

a% 2050 T fasmla 3wt H ga d F of wem o aret <9t ° 9 it < gEmn i e
FrafaRas & @ == gm 2

Options :

91394363805, 1085

91394363506, 084

91394363807, 159
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Question Number : 53 Question Id : 91394316240 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fefrfaa aasRA s ad g2

() WiEETd o9 @ SR e A 79 SHifad @l § |
(i) IgarT § ufgened it v S92 |

(iii) 3TrRiT 95 Al fywla <ot ¥ @ |

fr= T 7T e # |/ TE IW H gE
B
Options :
91394363809, e (i) 3 (i) & |
91394363810, 700 O 3 () T |
91394563811 TN ) R Gi) T E |

91394363812,

(1), (i) 3 (i) avft Tt & |

Question Number : 54 Question Id : 91394316241 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g ufgenatt i dial # fraht sfowe @ $m @ s At S Fro A T 2

Options :

913943635513.

91394363514.

913943633815.

91394363016.

55

65

75

85

Question Number : 55 Question Id : 91394316242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in .repp

Your Personal Exams Guide

= iR wem o e 3t 4 w9l 9g uRkenedt w1 vfvwm sR & fog Feafafa § @ feae

s feran T 2
Note: For this question, discrepancy 1s found in question/answer. So,this question is ignored for all
candidates.
Options :
115
x 100
91394363817, 389
2F
—JO x 100
91394363318, 309
iiﬁ x 100
91394363819. 270
‘)I-‘
270 . 100

91394363820, 115

Question Number : 56 Question Id : 91394316243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g3 wfzanstt i #dta % Hreo $ Frafafad s sraenst # @ Hi-H 5w sgaen st
(FE@ A ~Ea) PR A G B 2

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all
candidates.
Options :

Sfof gam, $eR, =9 U
91394363821,

39 7T, Sftof g9,
91394363822,

ot Sfiof 3= O
91394363823 S

FHC, 3= T, <l
913943633824. ’ ’ el

Sub-Section Number: 2
Sub-Section Id: 013943821
Question Shuffling Allowed : Yes

Question Number : 57 Question Id : 91394316244 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which among the following diagrams indicates the best relation between cardiovascular
diseases, road accidents and cholera ?

Options :

91394363825. E
91394363826. E
91394363827. .
913943638Z28. @

Question Number : 57 Question Id : 91394316244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Frefafigs smEt | @ SiF-a1 e g gadt W, T queiel i &1 % fie dgad d= g
ST & ?

Options :

91384363825, E
91394363826, E
91384363827 .
91384363825, @

Question Number : 5§ Question Id : 91394316245 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one among the following important developments did nof take place in the area of
population studies in 19" and 20" centuries ?

Options :

The development of probability theory in Statistics
913894363828%. 5 B 4 £

The beginning of Census operations
91384363830. 5 i

Establishment of the system of Civil Registration
91394363831. i

The beginning of demographic surveys for collection of data
91384363832, & grap y

Question Number : 38 Question Id : 91394316245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

195 ik 20 wafeedt @ waE stegaa & & § frafoRae d @ <98 we=l vease ufeq @
gL ?
Options :

91394263829. H ozt PR

ST AR D AT
91394363830,

91394363531. ﬁ

HTHSH % TRV o o Siferera wiart i
91394363832, b e

Question Number : 59 Question Id : 91394316246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :
Match the important milestones/events in India’s Family Welfare Program shown in List I

with their dates in List II.
List I List IT
(a) MTP Act (»H 1971

(b) Target free approach in programme (i) 1977
(¢) Family Planning Programme named (iii) 1996

as Family Welfare
(d) National Population Policy (iv) 2000
(e) National Health Mission (v) 2013
Code:

Options :
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9129423823,

91394363534.

91394363535.

91394363536.

(a)—(D), (b)—(iii), (e)-(id), (d)iv), (e)«v)

(a)-(iii), (b)—(v), (e)(ii), (d)—(iv), (e)—(i)

(a)—(ii), (b)—(i), (e)—(v), (d)—(iii), (e)—(iv)

(a)—(D), (b)—{ii), (e)iid), (d)—(iv), (e)—(v)

prepp
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Question Number : 59 Question Id : 91394316246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et 1% WRa % IRER Feamr Sr A agagl sieewstt S g=ht 116 373h falmi @ frem

Hifr |

(a} qu‘t.tm Qﬁﬁqq {i} 1971

(b) HRlzHH A Y Wea gfeeahiur () 1977

(¢) iER IS sk o1 AoeRT IRER (i) 1996

wearor foran

(@ T S A (iv) 2000

(e) T wreen figm (v) 2013

B
Options :
91394363833, (a)—(D), (b)(iii), (e)~(ii), (d)~(iv), (e)—(v)
91394363334, (a)—(iii), (b)—(v), (e)(ii), (d)—(iv), (e)—(i)
ssenseness -l (B0, (©-), (d-01), (e)-r)
91394363836, (a)—(D), (b)—(i), (e)-{iii), (d)~(iv), (e)~(v)

Question Number : 60 Question Id : 91394316247 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following States had the largest share of population in the age

group 0 — 14 yearsin 2011 ?

Options :

91394363537.

Bihar
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Madhya Pradesh
91394363828,

Chhattisgarh
91394363839.

91394363540, Sparkhand

Question Number : 60 Question Id : 91394316247 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

frefafad % & F6a U531 20119 0 — 14 99 % 31 Wg | SHUEAT 1 G4 991 W7 47 2

Options :

913942E38Z7. fea

HEq
91394363833. e

913943636389.

91394263840,

Question Number : 61 Question Id : 91394316248 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following assumptions is not true about Life table ?

Options :

Life table is a life history of a hypothetical group of le (cohort).
91394363841, = ypo group of people ( )

The life table eohort is “closed” against migration ‘in’ or ‘out’.
91394363842,

At each age, deaths are evenly distributed between one birthday and the next.
91394363843.

People die at each age according to a schedule that is fixed in advance and does not change.
91394363844.

Question Number : 61 Question Id : 91394316248 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

st areft < ar ® Preafafiaa 4 @S-t sraamon of 78 2 2

Options :
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S gl @il % T Trawfodd Tg (T it e shea § |
91239433841,

013043604 T SN AR SR % S Sfie e wer “ag” 2 @ |

Yl A W, Th 50 &7 @ anret 570 fm & offe gy 1 o afvao g 2 |
91394363843

el Y TR W AT i T T AT  HJAR 31 § 5t w5t @ Fraa gt 8 ok ol aqaa
T8l g 2 |

91394363544.

Question Number : 62 Question Id : 91394316249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the latest United Nations Human Development Report released on 14t September 2018,
India occupied which among the following ranks ?

Options :

91394363045. —

91394365046, L4k

91394363047. 1l

91394363043. Ll

Question Number : 62 Question Id : 91394316249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

14 fawaR, 2018 St Sl H 7 FATH TYFT U A fywa foaid 7 e i feafafaa § @
FH-HT TH S ?

Options :

91394363045. A=E

91394363046. 14t

91394363047, Ll

91394363043. s



www.prepp.in .repp

Your Personal Exams Guide

Question Number : 63 Question Id : 91394316250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to National Family Health Survey 2016 — 17 (NFHS-4), total fertility rate
(children per woman) for India is among which of the following categories ?

Options :

91394363849, 1019

91394363850, 20~ 24

91394363851, 20~ 29

91394363852, S0~ 3%

Question Number : 63 Question Id : 91394316250 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

TS TRER T A 2016 — 17 (TH.06.T9.TH.-4) 3 IR, YA 3 f0 5 3om A
(sftr wfen ===t <t wem) Frfelaa 3 @ e foft o ot 2 2

Options :

91394363849, 1019

91394363850, 20~ %4

91394363851, 20~ 29

91394363852, S0~ 3%

Question Number : 64 Question Id : 91394316251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the Life table functions provided in List I to its explanation

given in List IL

List I List I1
(a) O« (i}  Person-years lived at age x
(b) Ty (ii) Number of persons living at the exact age x
(c) eg (iii) Probability of dying between age xtox+n
d I (iv} Expectancy of life at age 0’
Code :

Options :
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sisgasesaey N u (B (0-09), (-0

91394363854. (a)—(1), (b)—(ii), (e)—(iii), (d)—(iv)

orzsaneasg: | B-uly (= (e, (d)-(e)

Question Number : 64 Question Id : 91394316251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= 11 fou 7o e arefl el &t g=t [TH & 718 3961 =re & |91y
gufera Hife |

SCL gt 11

@) nfx i) g x W fo T st

b % (i) s xw e ot 7 cafied < e
(c) eg (iii) Y x¥ x 4+ n b &9 A 6 AEFHAT
(d) (iv) 21 ‘0" 9 Sffa= Jedmem

L A

Options :

91394363853, 20D, (WD), (@), (-0

gtagazeseey o Db, 0D, () U

siasqmagnes Wb, e, (D

91394363856, (a)—(ii), (b)—(1), (e)iii), (d)—(iv)

Question Number : 65 Question Id : 91394316252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Fertility theories are grouped in different categories except
Options :

Biological theories
91394363857.

91394363g5g, Sodo-cultural theories
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91394363559, eonomic theories

91394363360, Behavioural theories

Question Number : 65 Question Id : 91394316252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et Rrgreat it faftm afvent § wifesa e smat R e

Options :

Afers Raga
913594363657.
913943638586.

I Rrgra

91394363559.

91394363560.

Question Number : 66 Question Id : 91394316253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion (A) : Family planning acceptance in rural areas is lower than urban areas in
India.

Reason (R) : Large family size still persists in rural India.
In the context of these two statements, which one of the following is correct ?

Code:
Options :

(A) is true, but (R) is false.
91394363861,

(A) is false, but (R) is true.
91394363862,

Both (A) and (R) are true and (R) is one explanation of (A).
91394363863,

Both (A) and (R) are true, but (R) is not an explanation of (A).
91394363864,

Question Number : 66 Question Id : 91394316253 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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ST (A) : YT | Ygh &3 % gepree artor &1 # afEar fFaism 6 wfisra s 2 )
g% (R) - o wieg & o off s s 3 § )
39gaa gl FyAl & ged A, Fefafas t d smadi 2 2

R
Options :

A) 3 R)TeAd = |
91394363861. W R !

A) Teld &, R) |
91394363862. : %m( e

A) 3T (R TUT (R), (A) h Tk =qrEAt
91394363863, (R) 3! W&t & 741 (R), (A) A T 2

(A) 3R (R) 1 9t B, g (R), (A) i qr@T 78 § |
91294363864,

Question Number : 67 Question Id : 91394316254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Male migration rate as per the 2011 Census in India is
Options :

Below 20 percent
91394363865.

20 — 25 percent
91394363566,

25 — 30 percent
91394363867,

Above 30 percent
91394363868,

Question Number : 67 Question Id : 91394316254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
2011 <} THVAT F AFIR YR | JOF F5ioi T 2

Options :

91394363565. £} Lk

91394363366, 20 - 25 S

91394363867, 25 — 30 e
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91394363568, 30 9

Question Number : 68 Question Id : 91394316255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the following States of India in descending order (high to low) according to birth
rate as shown in the latest Sample Registration System Bulletin of September 2017.

(i) Bihar

(ii) Uttar Pradesh
(ili) Rajasthan

(iv) Madhya Pradesh

Choose the correct answer from the code given below :

Code:
Options :

91394363869, W (), ()

ii), (iii), (iv), (i)
91394363870. (i i), (1<), &

91394363871, 0 V)W

01304363870, ) (), (i)

Question Number : 68 Question Id ; 91394316255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

R, 2017 % FfiAan wftesl wefieror sawen gafes 4 goid 8 97 S agERr wre S Feafafaa
T4l TR (it & Foe) e @ saatem Hifvm )

G faEr
(i) IR

(iii) TEI™

(iv) WEq Y2y

Frer e e g2 # | T W =6 gie
6

Options :

913294363869, (i), (i), (iv), (iii)
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i), (i), Giv), G
a1394363870. W IWHE)

91394363871 (iii), (iv), (1), (ii)

9139436372, W (D), (D)

Question Number : 69 Question Id : 91394316256 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

If the death rate of a stationary Life table population is 10 (per thousand), this implies a life

expectancy of about

Options :

65 years
9139436357 3.

50 years
91394363574.

100 years
91394363575.

30 years
91394363576.

Question Number : 69 Question Id : 91394316256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
afe ueh feR Sfiam groft saem 6 3oy X 10 2 (9 7o), ot Ssiaw searam 2oft, sy

Options :

91394363873, 65
91394363874. S0
91394363875. 100
91394363876, 30

Question Number : 70 Question Id : 91394316257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Comparison of crude birth rate of two population groups can only be done by age
standardization of the birth rate because

Options :
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e distribution of two ulation groups is not known.
91=294=263877. Ag ESw Fronis

Different age distributions of two population groups becomes extraneous factor affecting the

comparison of birth rates.
91394363878,

91394363879, DO the above are correct statements.

91394363880, Both the above are incorrect statements.

Question Number : 70 Question Id : 91394316257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

&l SHaE gl % it 9= g H gan Rk =1 g % wrehrenton grn <t S gendt § w9t

Options :

91394363877 Q ST g 1 Y T 9 T g |

91394363878, “ Wl 1 e Y Foaaon arer FRF 7 AT & AW G0 I PRI FA R

I9gad gl YT TR B |
91294263879,

3w gl YA T § |

913943638380

Question Number : 71 Question Id ; 91394316258 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which among the following can be captured through the data on marginal workers in
Indian Census ?

(i) Non-availability of work throughout the year
(ii) Availability of home-based work
(ili) Under-utilisation of the workforce

(iv) Flexibility in work condition
Choose the correct answer from the code given below :

Code:
Options :

91394363851, ) and (i) are correct
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91394363852, ) and (i) are correct

91394363853, O and (V) are correct

(ii) and (iv) are correct
91394363884,

Question Number : 71 Question Id : 91394316258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YT SOt B Ei i TRl & defta Aehel o wew 4 Fafafag 3 @« v o s g
??

(i) R TdHE ST
(i) TE-3nuid Hrt ht IqeRTAT
(iii) ri-vfR &1 7 I
(iv) i aitfefat o a=ftems

Frer e e %2 # | T W =6 g
C -

Options :

91394363881, ® MR () W B

91394363882, (0 3R i) T &

91394363883, S (iv) 7 8

91394363884, 3R (i) ¥ 8

Question Number : 72 Question Id : 91394316259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

The Myers’ Blended Index is used to assess which among the following ?
Options :
Mis-reporting of women with zero pari
91394363885. R pariy

91394363836, Omission of information on dead children
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Preference for terminal digits
91394363887.

Dissimilarity of two age distribution
91394363888.

Question Number : 72 Question Id : 91394316259 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

ar <t fifda srgseaferent <1 i feafaRiaa § @ foraen smerem + % fore form s 2 2
Options :

7 G wfgenat i e fafdn
91394363885

a3l FgEg o CARCE]
913943638886, b o

3eq It fou afigan
91394363887,

gt 1y forawor & = eremmaT
91394363888,

Question Number : 73 Question Id : 91394316260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of ‘million plus’ cities in India has gone up from 35 in 2001 to in
2011.

Options :

913943638889. o

91394363890. e

91394363891. Gﬂ

91394363892, i

Question Number : 73 Question Id : 91394316260 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YR | ‘58 or@ 4 At SHae) aict gl R TEa 2001 A 35 ag w2011 RBME
g1

Options :



www.prepp.in .repp

Your Personal Exams Guide

91394363589. 24
91394363590. 2
91394363091. 60
91394363092. 65

Question Number : 74 Question Id : 91394316261 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :
In 1947, C.P. Blaker attempted to identify how many stages of demographic transition ?

Options :

3
913943635895.

4
91394263894,

5
913594365895.

6
9135943635896.

Question Number : 74 Question Id : 91394316261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1947 ¥, ot i, sl 3 Siferehra Tsravr & foraa sroont <t wgem e i vara e ot 2

Options :

91394363593.

91394263894,

91394363595.

91394363596.

Question Number : 75 Question Id : 91394316262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

“Transfer of labour force from subsistence sector to industrial sector results in capital
formation and economic development.” This proposition forms the core of
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Options :

Lewis model of migration
91394263897,

Wilbur Zelinsky’s model
91394363898,

Everett Lee’s theory
91394363899.

Ravenstein’s theory
91394363900,

Question Number : 75 Question Id : 91394316262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“aftres 7 % Frafz &= @ N & hit AR Ao F waeaey Gt w1 Fmfor ok snféfs fosrma g
BIPTETRYTAT _ HH R |

Options :

913942363897. Lk

91394363898.

wae <t Riga

91394363599

&= 1 fuge
91394363900

Question Number : 76 Question Id : 91394316263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The United States of America had its first census in which among the following years ?

Options :

91394363901. 2

91394363902. sl

91394363903. pie

91394363904, N

Question Number : 76 Question Id : 91394316263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

AT T IR <t Tgelt SmvEn Fefalas 3 & form o § g8 ot 2

Options :

913943633901. L

913943633902. 1780

91394363903. i

913943633904, Lo

Question Number : 77 Question Id : 91394316264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following scenario indicates negative growth rate of population in the
long run ?

Options :

Net Reproduction Rate = 1
91394363905,

Net Reproduction Rate < 1
91394363906,

Net Reproduction Rate > 1
91394363907,

Net Reproduction Rate =0
913943639083,

Question Number : 77 Question Id : 91394316264 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrafafas 3 & - vigrs Sufaf % e sAaEm A Fones afyg @ #t wafh e g ?
Options :
01394363905, I AR =1

e et <1
91394363906,

a1
91394363907

s =0
913943639083
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Question Number : 78 Question Id : 91394316265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to Walter Christaller, trade areas of cities are

Options :

91394363909, Cireular

Hexagonal
91394363910,

Octagonal
91394363911.

Rectangular
91394363912,

Question Number : 78 Question Id : 91394316265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

qreet BReTer 3 S19aR, T8l % =R 8 ¥
Options :

913942363903,

913943633910.

9139432363911.

91394263912

Question Number : 79 Question Id : 91394316266 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion (A) : Depletion of natural resources affects the poor women the most.

Reason (R) : Poor rural women spend a lot of their time and energy in collecting fuel and
fodder.

In the context of these two statements, which one of the following is correct ?

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394363913,
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Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394263914.

(A) is true, but (R) is false.
91394363915,

(A) is false, but (R) is true.
91394363916.

Question Number : 79 Question Id : 91394316266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

S (A) : Tpfah qaTg=i & I9er ] T afgemd w=) samgn e gt 2 |
7% (R) : i yreftor wfgend 1o wga ot and R o 397 ol S e e A wE W
I 3t Hel & aed #, e d 3 sw e 2 2

®e:
Options :

A) 3R (R TAUT (R), (A) st T&t =grETt
91394363913, (R) 3 Wat & 74T (R), (A) 0t & 2

(A) 3R (R) gt 9t 2, g (R), (A) Wt s 76 2 |
91294363914,

(A) &t 3, g (R) Teid 2 |
91394363915,

(A)Teid B, Wg (R) T B |
91394363916,

Question Number : 80 Question Id : 91394316267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In 2016, Millenium Development Goals (MDGs) were replaced by Sustainable Development
Goals (SDGs) including some new areas of concern. Which of the following is/are the newly
added goals in the list ?

(i) Climate action
(i) Sustainable cities and communities
(iii) Eradication of poverty and hunger

(iv) Gender equality and women empowerment

Choose the correct answer from the code given below :

Code:

Options :

Only (i
91394363917. y @
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Only (i) and (ii)
9129423918, T (

Only (ii) and (iii)
91394363919.

Only (i) and (iv)
91394363920.

Question Number : 80 Question Id : 91394316267 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

af 2016 & fER % Fo TU &5 H whE F@ 5 areed e qal (@@ 5) # e em
Tl (. gh.90w) ¥ sfeeenfia fn mn | Peafelag # @ fra/fem asa/ast = s o=t § 70 siw
T2 ?

() eEy gadt FaR

(i) oo v R T

(i) T R @ e
(iv) wfire guran 2 ot aufeasor

Frer e e %2 # | T W = g
C &

Options :

¥4 (1)
91394363917

had (1) 3 (i)
91394363918,

FaA (i) 3 (i)
91394263919,

Fad (i) 3 (v)
91394363920,

Question Number : 81 Question Id : 91394316268 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

Which of the following ‘strategic themes’ were nof included in the National Health Policy,
2000 ?

Options :

Enhanced use of modern system of medicine
91394363921,

Decentralized planning and programme implementation
91384363922, P & progr P
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Meeting the unmet needs for family welfare services
91394363923,

Increased participation of men in planned parenthood
91394363924.

Question Number : 81 Question Id : 91394316268 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

frefafas 4 | fea wrfifos i’ it wda wreen Hifa, 2000 3 e a8 fam mn a1 2
Options :

syl faferean siftre 39
913943263921, "

fahediepa ArIeAT ok FrlsHn ST
91394363922,

qRER Heamr A9it Hi FELA! B QA FA
913943683923, oo o

gt w3 e @ g wient

91394363924

Question Number : 82 Question Id : 91394316269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is used to calculate approximate doubling time of a population ?

Options :

91394363925 50 / population growth rate (%)
91394363926, 0 / population growth rate (%)
91394363927, / population growth rate (%)
91394363928, / population growth rate (%)

Question Number : 82 Question Id : 91394316269 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

foreft STt o QAT 8 % TG WA <t 10T A o fore feafafaa § 3 feaet e fomn siar
2?

Options :
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50 / sae 3fg R (%)
91394363925.

60 / saEm 3fg R (%)
91394363926,

70 / SgEat 9 &/ (%)
91394363927

80 / wwEem 38 | (%)
91394363928

Question Number : 83 Question Id : 91394316270 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion (A) : A set of techniques are developed for indirect estimation of demographie
parameters.

Reason (R) : Unfortunately in many countries, quality of data collected from vital
registration system and census is very poor or incomplete.

In the context of these two statements, which one of the following is correct ?

Code:

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
913943639289,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394363930,

(A) is true, but (R) is false.
91394363931.

(A) is false, but (R) is true.
91294263932,

Question Number : 83 Question Id : 91394316270 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ST (A) : SHITHHIT THEUS! o ATeqH TaHe & fore o vfafer = fawm e wn 2 )
a% (R) : QiTas 5gd | < | Sfta Gt Tofitor sqaeen SR oAt & 39y Tt T arigt
TorEreT TEd GE Bt § A Y e 3R E
I FuAl F A °, Peffag 1 a swmadi 2 2
C T4

Options :

A) 3R Tl (R), (A) st T sqrean
91394363920, (R) 3F1 7t & 74T (R), (A) it &l 21
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(A) 3R (R) T Tdt 8, g (R), (A) it ot =arem 71 |
91294263920,

(A) &t 3, g (R) Teid 2 |
91394363931,

(A)Teid B, W (R) T 2 |
91394363932

Question Number : 84 Question Id : 91394316271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is not correctly matched ?

Options :

First Population Policy of India : 1978
91394363933,

National Rural Health Mission (NRHM) : 2005
91394363934,

National Family Health Survey-I (NFHS-I) : 1992 — 93
91394363935,

Reproductive and Child Health Programme (RCH) : 1997
91394363936,

Question Number : 84 Question Id : 91394316271 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

freafofiaa & & SH-a1 gafaa 78 2 2

Options :

R st el smaean fify - 1978
91394363933

s amitor Tareen e (W) 2005
91394363934,

e IRER e gadvl-1 (.05, 99.99-1) : 1992 — 93
91394363935,

A IR T Tareey sl (IR uS.) 1997
91394363936,

Question Number : 85 Question Id : 91394316272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Among the following measures of fertility, which one is notf a period measure of fertility ?

Options :
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91394363937, Crude Birth Rate

General Fertility Rate
91394363938,

Total Fertility Rate
91394363939,

sisgasezeay ~omberofchildren ever bom

Question Number : 85 Question Id : 91394316272 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

gt o frafafiaa afoamdt #§ 2 shaar aduam yew=ar afmg 787 2 2
Options :

At 5
91394363937,

"M S5 <1
91394363933.

T
91394363939, ¥

ArdT < S i & SRE F4H oft 9=t 5= By g
91394363940,

Question Number : 86 Question Id : 91394316273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A modern census can be defined in terms of the following :

(i) Well-defined territory
(ii) Coverage of all people
(ii) Enumeration of socio-economic characteristics at individual level

(iv) Specified reference time period
Choose the correct answer from the code given below :

Code:
Options :

i), (iii) and (iv
91394363941, 0 (i)

ii), (iii) and (iv
91394363942, ), G {iw)
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D, (i), (iii) and (i
. (1), (ii), (iii) and (iv)

i), (ii) and (iii
91394363944, (0 L1it:smmd )

Question Number : 86 Question Id : 91394316273 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

o Iygfie s S frefafaa gt 3 wfonfye fen st asa @
() garona &=

i) Gt &t 6t e wen

(i) =afFTa T W Ame-t fasaredt i mom

(iv) fafdre gev #ra srafy

Frer faw e g2 # | T W = g
C T4
Options :
(i), (iii) 2 (iv)
91394363941,
91394363942, (i), (i) 3R (iv)

91394363943, , (), (i) 3 (Gv)

(D), (i) 3 (i)
91394363944,

Question Number : 87 Question Id : 91394316274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Which of the following schemes enhance household food security ?

(i) Annapurna Scheme

(ii) Targeted Public Distribution System
(iii) National Rural Livelihood Mission
(iv) MGNREGA

Choose the correct answer from the code given below :
Code:

Options :
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Only (i) and (ii)
9129423945, T (

Only (ii) and (iv)
91394363946,

Only (i) and (iii)
91394363947,

Only (i) and (iv)
913943639483,

Question Number : 87 Question Id : 91394316274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Frfafaa § @ =i € FisAd e @ gien it 9T § ?
() =g Ao
(i) wfEra ardete faawr yomeh
(i) Tt Ao srdifaen e
(iv) W (g, S, e s,

Frer e e e # | T W = g
B

Options :

$ad (1) 3 (i)
91394363945,

FaA (i) 3R (iv)
91394263946

e (i) 3 (i)
91394363947,

Fad (1) 3 (iv)
913943639483,

Question Number : 8§ Question Id : 91394316275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

Which of the following was the coverage period for ‘District Level Household Survey-4’
(DLHS-4) ?
Options :

91394363949, 2012 -13
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91394363950, 20801l

91394363951 208112

91394363952, 2013 -14

Question Number : 8§ Question Id : 91394316275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Rren wadlra Teeeht gdavr-4’ (Fh.ua.ww.w@-4) & fow saifta (Fatw) safy Fefafga i a wn 2 2

Options :

91394363949, 200213

91394363950. 208011

91394363951 2011 -12

91394363952, 8l

Question Number : 89 Question Id : 91394316276 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Disability adjusted life years (DALY) is a measure of which among the following ?
Options :
Incidence of disease

91394363953.

91394363954, T revalence of disease

91394363955, Burden of disease

51394363556, None of the above

Question Number : 89 Question Id : 91394316276 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

rEreat aarEite S 99 (Sheue.as,) FeafaRas 8 ) foeae afmme 2 2

Options :
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913943633953, W

913942363954, TrH

91394363955. T 1 9

I 4
91394383956, =l

Question Number : 90 Question Id : 91394316277 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following information is nof included in ‘Health Management Information
System’ under NHM/NRHM ?

Options :

Family plannin
91384363957. yP &

91394363958, munisation

Training to staff in health facilities
91394363959,

91394363960, Human resources in health

Question Number : 90 Question Id : 91394316277 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
UA. U, UHL /T AT UL WA, & 9, e Yaua gert et ® fPrafafas @ @ - gemn @ig
i 78T 2 2

Options :

91394363957,

91394363958,

91394363959. ﬁhmaﬁﬁ -

913942363960, 3

Question Number : 91 Question Id : 91394316278 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Which of the countries listed below has the lowest infant mortality rate ?
Options :
91394363961. =ipen

Norway
91394363962,

91394363963, 1 mland

91394363964, Sveden

Question Number : 91 Question Id : 91394316278 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frefafes St A @ rai R ag R as@ v 3 2

Options :

91394363961.
91394363962,
91394363963,
913942363964,

Question Number : 92 Question Id : 91394316279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following combination arranges five most populous countries of the world
according to their population size ?

Options :

China, India, Indonesia, United States, Brazil
91394363965,

China, India, United States, Brazil, Indonesia
91394363966.

China, India, Indonesia, Brazil, United States
91394363967.

China, India, United States, Indonesia, Brazil
913943639683,
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Question Number : 92 Question Id : 91394316279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frefafaa 3§ & fra aarm | sHaem i gike @ g & e aad 92 39 68 A W@ TR ?
Options :

=, wa, ERRRE, smfE, seie
91394363985, ’ ’ ’ ’

o7, wra, @i, wef|, =R
91394363966, S ; .

7, e, =R, seta, smfe
91394363967, S : ;

==, e, fen, i, seie
91394363983, : 4 4 :

Question Number : 93 Question Id : 91394316280 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statements is incorrect ?

Options :

A large part of Malthus’ essay was devoted to refute the arguments of Condorcet and
91394363969, CCTR-

Mercantilists were expansionists.
91394363970,

Boserup believed that ulation wth stimulates economic growth.
91394363971. £ =e e e

Malthus encouraged universal marriage.
91394363972,

Question Number : 93 Question Id : 91394316280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

freafefas & ) S-a1 $99 7Em R ?
Options :

91394353080 T ¥ P #1 s w1 frca Fidde o mishm ¥ 7o #1 "@e7 v& % fre uffa o |

Hepreforee faeamandt @ |

91394363970.



www.prepp.in .repp

Your Personal Exams Guide

araey 1w o1 5 saem gfg sl afg it s st 2 1
91394363971

01394363075  TETE A W f3ETE i Stetteq 1 |

Question Number : 94 Question Id : 91394316281 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following combination of indicators is provided by Health Management
Information System (HMIS) under the National Health Mission (NHM) ?

(i) Input indicators
(ii) Process indicators
(iii) Output indicators

(iv) Impact indicators

Choose the correct answer from the code given below :

Code:

Options :

Only (ii) is correct
91394363973,

Only (i) and (ii) are correct
91394363974,

Only (i), (ii) and (iii) are correct
91394363975, y @, 1) (i)

All (i), (ii), (iii) and (iv) are correct
91394363976.

Question Number : 94 Question Id : 91394316281 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T e M (T.0E. . ) 3 984, SR Yage el et (T9.00.915.14. ) g Fafafas 3
d HH-G1 GgEH TareA Y= foran srar & 2

() A dgEE

(i) iR qEES

(i) frin ages

(iv) YIS 9g=F

Frer e e g2 # | T W =6 g
6

Options :
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91394363973, e (1) T8 R

91394363974, () 3 (i) T

T—— hae (1), (i) I (iii) 96 2

01504363976 @), (i), (i) 3R (iv) @t @& &

Question Number : 95 Question Id : 91394316282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following countries has the highest proportion of the elderly population ?
Options :
Japan

91394363977.

Germany
91394363978,

United Kingdom
91394363979,

91394363950, United States of America

Question Number : 95 Question Id : 91394316282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Freaferfiaa et & & fora <o <t A 1, 9 AT ST 1 Gaifeen TEEIT 8 ?

Options :

91394363977.

913943633973.

s e

91394263974,

HgFq TS I
91394363980.

Question Number : 96 Question Id : 91394316283 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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According to the latest sample Registration System Bulletin of September 2017, how many
small States are there in India ?

Options :
91394363981. L
8
9139436393%2.
9
91394363983.
913943639384, 1

Question Number : 96 Question Id : 91394316283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Rrava, 2017 % FftAaw wfoeet wefiertor saaen 9afeT % g, wra ° e s TS 2 2

Options :
913845639851 T
8
91384363982,
9
91384563983,
9129423984, 1

Question Number : 97 Question Id : 91394316284 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Sample Registration System (SRS) in India was introduced to acquire reliable data on

Options :

91394363935, LIS

91394363986, DeAths

91394363937, Dirinsand deaths

Births, deaths and marriages
91394363988,

Question Number : 97 Question Id : 91394316284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Freafafas § o Reoes gay @ favaaa e e o T wra # fergel wefieror saaeen (Ta.3R.
ud.) i yesnd H g ot 2

Options :

91394363985.

91394363956.

S 3
91394363987 3

w4, 7eg 3k fearg
91394363988,

Question Number : 9§ Question Id : 91394316285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

According to the National Family Health Survey 2015 — 16 (NFHS-4) total unmet

percentage need for family planning among currently married women age 15 — 49 years in
India is around

Options :

91394363939,

91394363930, 11

91394363991. i

91394363992. =

Question Number : 98 Question Id : 91394316285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

T IRER Tarees qdemT, 2015 — 16 (T.0%6.U9.TH.-4) 6 AR, WK # 9a9[ § 16 — 49 31
a1t i faaie afgenett % e viEr Frem H o ongia sravawm # st g 2

Options :

91394363959.

91394363930, 11

91394363991. 1
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91394363992. =

Question Number : 99 Question Id : 91394316286 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a country with a high life expectancy, the fact that the actual death rate is lower than
the death rate of the stationary population means that

(i) the actual population is growing through natural increase.

(ii) the country has a younger actual population than the stationary population.

Choose the correct answer from the code given below :

Code:

Options :

Only (i) is true
91394363993,

Only (ii) is true
91394363994,

Neither (i) nor (i) is true
9139432363995, @ )

Both (i) and (ii) are true
91394363996,

Question Number : 99 Question Id : 91394316286 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

I N JAM A W H, A Th s g AR aen A g R AT, Aama e 5
(i) i FTEET TRhfs ¥4 A g W R |

(i) TRR SEE Hi g 4 <0 A IrEafas SEe Altw a1 e |

frer e e %2 # | T I 6 g
6

Options :

91394363993, T O TR

91394363994, e (1) T8 R

91334363905, | O T T AR G
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91394363996, 3R (i) R e

Question Number : 100 Question Id ; 91394316287 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

According to Indian Census, residents of which among the following are nof considered as
houseless households ?
Options :

Railway Platforms
91394363997,

ar Homes
91394363993, Begg

Footpath
91394363998, tpa

Under Fly-overs and Bridges
91394364000,

Question Number : 100 Question Id : 91394316287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Wt SOt % iER, Frafafea 7 @ Reass fanfte w6t o safea 7 s g 2

Options :

91394363997. S

fu
91394363998, e

91394363999,

91394364000, FIR-GeT SR Gl F A & I

Question Number : 101 Question Id : 91394316288 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which among the following States has the highest ‘Contraceptive Prevalence Rate’ of
modern methods of family planning in NFHS-4 ?

Options :

Punjab
91394364001,
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91394364002, “ndbra Pradesh

91394364003, 1awil Nadu

91394364004, Yaharashira

Question Number : 101 Question Id ; 91394316288 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

UA.U%. 09,14, -4 # 9Rar faes it snygfaes faftmt # frafaRae 7 @ fra osa 4 sssam ‘mi s
PR R

Options :
91384564001,

Y ToH

91394364002,

91394364003,
9129424004,

Question Numnber : 102 Question Id : 91394316289 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the important milestones/events in Global (G) or India’s (I) Population Programmes
shown in List I with their dates in List II.

List I List I
(a) International Conference on Population (i) 1994
Development (G) (ICPD)
(b) Re-naming Family Planning to Family (i) 1977
Welfare (I)
(¢) National Population Policy (I) (iii) 2000
(d) Child Marriage Restraint Act (I) (iv) 1978

(e) Sustainable Development Goals (G) (SDGs) (v) 2016

Code:
Options :

91394364005 Wi @-Iw), ()=, (-, (e)-lw)

91394364006, (a)—(D), (b)ii), (e)-iii), (d)—(iv), (e)—(v)



www.prepp.in .repp

Your Personal Exams Guide

srggazensny o ), (- (d-(v), (a)-(ii)

91394364008, {a-}_(lv:l: (b)—(ll), (CJ—'I:]J.!), (d)_(l}} (E)—(V}

Question Number : 102 Question Id ; 91394316289 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

et 17 g (5h) 1w (%) Sae Srir i geaqel aReestt S gt 117 Ieht fafémt
& firem hifsre |
g 1 g I

(a) FEETAS FOHA A IgH Sqawie () () 1994
(st fA.)

(b) qftar P *1 T sed S IREr Feam () 1977
FAI (A13)

(¢) U SEE Hifg (31%) (iii) 2000
(d) =T fqam sfay fages (ang) (iv) 1978
(e) oo fawm qgm () (wa.dtsh) (v) 2016

%
Options :

siggazeasns o -v), (oL SIS

91394364006, (a)-(1), (b)), (e)iii), (d)iv), (e)~(v)

91394364007, W 0=, (- (G-(w, )

orzgazaacog | oo (b (G-, (- (e)-(w)

Question Number : 103 Question Id ;: 91394316290 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which among the following is neotf correct regarding ‘POSHAN Abhiyan’ initiated by the
Government of India ?

Options :

It will reduce stunting in children 0 — 6 years of age from 38-4% to 25% by 2022.
913943640089,

It aims to ensure holistic development and adequate nutrition for pregnant women, mothers

91394364010, 20d children.
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It ensures convergence of various nutrition related schemes.
91239424011.

91394364012 It will be subsumed in the ICDS nutrition services.

Question Number : 103 Question Id ; 91394316290 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

Frefafad § @ $H-A1 YT GR g Y& FRT T “divr it 5 s’ 4 a8 78 2 2
Options :

0 — 6 a9 i 11g & F=1 § i #2022 T 38-4% W U 25% FI |
91394384009,

gaht ey mfadt R, Araedt ot =t it vty divr ik SR v fara giifeea e 2
91394364010.

gad it oo el Somnedt it wehiea frmm 2 |
91394364011,

0130436401y T STEHI-SHTE. UINU IS § FIed T SO |

Question Number : 104 Question Id : 91394316291 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following religious communities is nof categorised separately in Indian
census ?
Options :

91394364013, 20

91394364014, Duddhist

91394364015, Dahal

91394364016. Sl

Question Number : 104 Question Id : 91394316291 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrafafas 3 o fra oiftfes agm it syt Aot 3 e o Sfiska 77 form T R 2
Options :

91394364013. %q
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91394364014, s
91394364015.
91394364016. o

Question Number : 105 Question Id : 91394316292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Among the indicators given below, which one is commonly nof used as economic indicator at
micro level 7

(i) Contribution of non-agricultural sector to GDP
(ii) Total food production
(iii) Enrolment ratio of girls in schools

(iv) Rate of inflation

Choose the correct answer from the code given below :

Code:
Options :

(i) and (ii)
913945364017

i), (ii) and (iii
91394364018, (@), () and (i}

ii), (iii) and (iv
91394364019. (i il e

i), (i) and (iv
91=294=264020. @, @ e)

Question Number : 105 Question Id : 91394316292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A= f o HgEe § A PH-A1 T AR W G TR R T 7@ e S aren i agee @
2

@ 2 # R & aeE
(i) P G I
(iti) Toremet § afermrett 1 T A

(iv) HgrEhifa

Frer e e e # | T W =6 g

B

Options :

91394364017,

91394364018,

913943640189.

91394364020,

(i) 3 (i)

(i), (i) 2 (iii)

(i), (i) 3 (iv)

(@), (i) 2 (iv)

prepp
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Question Number : 106 Question Id : 91394316293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion (A) : Some of the States with adverse child sex ratio in the past, witnessed
improvements in sex ratio at birth recently.

Reason (R) : Such States have effectively implemented ‘Beti-Bachao and Beti-Padhao’

programme.

In the context of these two statements, which one of the following is correct ?

Code:

Options :

91394364021,

91394364022,

91394364023,

91394364024,

Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.
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Question Numnber : 106 Question Id : 91394316293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o (A) : 9 W& T=91 8, 97 fama 7 w=31 +t fomgara vfoga on, @ & ° S formgare”
IR FHA 2 |

7% (R) : W8 =gt § Aét-s=nant ofit Sft-ugrent’ srban s gvret &9 @ =g e 2

39 &t HyHl % g #, Pefafar A a shwmadi 2 2

®e:
Options :

agr $I FEl TS
91394364021 (A) 3T (R) T TEl & T (R), (A) i =l 2l

(A) 3R (R) gt 9t 2, g (R), (A) Wt sarem 76 2 |
91294364022,

A) s R)Tdd = |
91294264023, @Y, T ®) !

(A)TTed 8, g (R) Tt 2 |
91394364024,

Question Number : 107 Question Id ; 91394316294 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

India has set population stabilization goal. This means

Options :
Zero population growth rate
913942£402¢E. oy "
Achievement of contraceptive prevalence rate (CPR) of 65%
91394364026.
Achievement of fourth stage of demographic transition — low levels of birth and death rates
91394364027,
Average family size of 2-1 children
91394364028,

Question Number : 107 Question Id ; 91394316294 (Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
YRE 3 saen el qe it e 2 | 5o ad 2

Options :

S 9fe
91394364025. A 4
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¥ SaTYeRaT ¢ (4.9 AR.) i 65% TEEEI
91394364026

SRR Gshmor <Y eyt | — - 3t Wt fosr Tt
91394364027, e i KRR

913943640283, 21 Tl S TRAR A

Question Number : 108 Question Id : 91394316295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following will provide, from a Life table, the additional years a person is
expected to live after age 60 ?
Options :

a0
91394364023, 60

91394264020, lep

91394264021. Tep

91394364032, 960

Question Number : 108 Question Id ; 91394316295 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

stters wroft |, Frafalas o @ frass gro 97 sifofaa aut s gar omn s g 2 s =t o= et
sfad & 60 I i Y T T A % vvEg SHifad @ < s Bt B 2

Options :
N
913943640238, 60

91394364030, lgp

91394364031. Teo

91394364032. 960

Question Number : 109 Question Id : 91394316296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following is nof a Sustainable Development Goal ?

Options :
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Good health and well being
912943264033,

Gender equali
91394364034, Rty

Zero hunger
91394364035.
91394364036, Creation of wealth

Question Number : 109 Question Id : 91394316296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Freafafas @ @S- fewre fawra weat 4 aftifaa a8t 2 2
Options :

91394364033, R

91394364034,

91394364035.

°C|
91394364036, ™

Question Number : 110 Question Id : 91394316297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following set of population projection tables are generally given by Technical
Group who makes population projections for India ?

Options :

91394364037, ndiaalone

91394364038, India and States alone

India, States and Union Territories alone
913943640389.

India, States, Union Territories and Districts
91394364040,

Question Number : 110 Question Id : 91394316297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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VTG 1 SEEET SR F T TR0t T g1 amr-aa: Fefafas # @ S s véu
areft € St 2 2

Options :

91394364037,

91394364038, Ry AR T

FIe WA, U9 IR a9 &9
91394364039,

YRd, T, 99 &7 3R -
91394364040,

Question Number : 111 Question Id : 91394316298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Perceived employment opportunities and income levels’ form the basis of migration
theory/model proposed by
Options :

SigaABEAn4], SeeuelA Stoufier

John Q. Stewart
9139424042,

91394364043, Michael Todaro

91304364044 verette Lee

Question Number : 111 Question Id : 91394316298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
“greaféra TR 2EET I 2 W era sfeafeq wstea Rrgra/mies s nar 2 |

Options :

AT T, WIH
91394364041,

Wi 7, Wl
91394364042,

ArEhd et
91394364043,
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g

91394364044,

Question Number : 112 Question Id : 91394316299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following indicators is used to measure change in fertility in India ?

Options :

91394364045, Crude Birth Rate

Total Marital Fertility Rate
91394364046,

Total Fertility Rate
91394364047,

Sisviseindg - VWoman Bata

Question Number : 112 Question Id : 91394316299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

freafafiaa & & fora Tg= o1 Y8 Ra o oA % qiwrg % fore feman stman
g?

Options :

At 5
91394364045.

Fa aqifgh T R
91394384048,

T
91394364047, ¥

e — wfgen 9
91394364048,

Question Number : 113 Question Id : 91394316300 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Louis I. Dublin and Alfred J. Lotka published a treatise on the stable population model in
which of the following years ?

Options :

913943640489, 1o
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91394364050, 102

91394364051. 1930

91394364052, 1940

Question Number : 113 Question Id ; 91394316300 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

g5a s, Tl o arethe 3. diew 3 for serem uiee gt wea Feafafas § & fra af 4 v
fira foma 2

Options :

913943640489, 1o

91394364050, ipa

91394364051. e

91394364052. 1940

Question Nuinber : 114 Question Id : 91394316301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match names of the scholars known for their contribution made in the area of theories of
population given in List I with their contribution given in List II.

List I List II
(a) Boserup (i) The Conditions of Agricultural

Growth : The Economies of Agrarian Change
under Population Pressure

(b) Julian Simon (ii) The Ultimate Resource
(¢) Ansley Coale and Edgar (iii) Population Growth and Economic Development in
Hoover Low-income Countries
(d) Michael Thomas (iv) Law of Population
Code:
Options :

ozsanansy 2 D, (e, (d)-(e)



www.prepp.in

9129424055,

91394364056.

(a)—(iid), (b)—(iv), (e)—(D), (d)—(ii)

(a)-(iv), (b)-(i), (e)-(iD), (d)—(iii)
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Question Number : 114 Question Id ; 91394316301 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

=t 19 seem fagia % 89 3 AR+ 9 RgEl S T s g 18 359 g g e At

g firem hifsr |

qEt I
(a) wEEY

IO

() i e H e : SEE EE S 977 SN gedd
qgaTal i AdSTIEAT

(b) S A (i) ifem GEeE

(c) THA Wit R TSR EH  (iii) AT A 1A Tegl ¥/ aean 9fg 3k anffe fawm
(iv) Swae # Rigia

(d) WEFHA AE

6

Options :

91394364053,

91394364054,

91394364055.

91394=640586,

(a)—(D), (b)—(ii), (e)—(iid), (d)—(iv)

(a)-(ib), (b)—iii), (c)—(iv), (d)—(i)

(a)-(iii), (b)-(iv), (e)-(i), (d)—ii)

(a)—(iv), (b)—(i), (e)—(ii), (d)—(iii)

Question Number : 115 Question Id : 91394316302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Rank the following Indian States in descending order (high to low) according to the ‘India

State Hunger Index, 2008’
(D Punjab

(i) Kerala

(iii) Haryana

(iv) Tamil Nadu

Choose the correct answer from the code given below :

Code:

Options :
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9129424057,

91394364053.

91394364059,

91394364060,

Punjab, Tamil Nadu, Haryana, Kerala

Punjab, Haryana, Kerala, Tamil Nadu

Punjab, Haryana, Tamil Nadu, Kerala

Punjab, Kerala, Haryana, Tamil Nadu
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Question Number : 115 Question Id : 91394316302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ffem W ¥R A, 2008’ % HER FefeaRas wrea t=at i sratd wu (I= ) ) # =nafeim

i |

(i) g
(i) A
(iii) gieamom
(iv) dfira 13

Frer e e e # | T W =6 g

6

Options :

91394364057,

913943640583.

913943640589,

91294264060,

91, it g, i, swa

gu1re, i, wa, i g

guire, giamon, afia 71g, W

qaTrE, e, wiemn, afire g

Question Number : 116 Question Id : 91394316303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following indices will be the most sensitive index to measure change in the

female age at marriage ?

Options :

91394364061,

Mean age of females at marriage
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Median age of females at marriage
91394264062,

Proportion of females marrying before age of 18 years.
91384364063, po & & Y

Mean age at marriage of females marrying in the age up 15 24 years.
91384364064, 2 2 = g b 4

Question Number : 116 Question Id ; 91394316303 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

frarg % ww Afgen H oy wiads % whore 5 forg Feafolas dge=t 4 @ s 9qus o=@
ST HAgsliet B 2

Options :

wfgenal % faarz A wre oy
91394364061

nfgetat = faamg $i wifersm oy
91394364062,

a9 <t 7Y ¥ R Frafga g areft wfeenst # g
91394364063, T AR

R 15 — 24 99 % 11 wqg ¥ fyanfea 29 arelt afgenet H mar oy

Question Number : 117 Question Id ; 91394316304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which one among the following is created through forced migration across the border ?

Options :

International Migration
91394364065,

lum Seekers
91384364066, Ay

Refugees
91394364067,

Internal Displacement
91394364063,

Question Number : 117 Question Id ; 91394316304 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Frefafas % @ S9-a1 dhm-arla Se@ geeE = Arem ] giva e smar 2 2

Options :
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91394264065,

91394364066,

913943640€7.

91394323640€8.

Question Number : 118 Question Id : 91394316305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to the latest Sample Registration Bulletin of September 2017, the death rate of

India per thousand population is
Options :
5-4
91394364069,
91394364070, °2
91394364071,
91394364072, ° 4

Question Number : 118 Question Id : 91394316305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Rravar, 2017 % FftAan sfoget wefieror Sy gafeT % TR WRa H 7 W 9T TR SHEE |
g

Options :

91394364069,
91394364070, O
91394364071, @ o
91394364072, O

Question Number : 119 Question Id : 91394316306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one of the following is effectively captured through the definition of worker adopted
in Indian census ?
Options :

Women working for pay or profit
91294264072, o BT RER

Women supervising agricultural work
91384364074, pe & agrl

Women travelling for work
91394364075,

Women working as casual labourers
91394364076,

Question Number : 119 Question Id : 91394316306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

WL ST0HT 3 37941 1% hrTR <ht afoarmsT 5 wrem @ FresafoRaa o @ frot oyl a6 @
el 2 ?

Options :

91394364073, AL R

R el 1 e e e whed
91394364074,

91394364075. 0 35 R A Sl

91394364076, A T

Question Number : 120 Question Id : 91394316307 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion (A) : India is currently experiencing ‘Youth bulge’ in age-structure.

Reason (R) : India has witnessed a significant decline in fertility levels during the recent
past.

In the context of these two statements, which one of the following is correct ?
Code:

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394364077,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943640783,
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(A) is true, but (R) is false.
91394264079,

(A) is false, but (R) is true.
91394364080,

Question Number : 120 Question Id ; 91394316307 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

S (A) : YTE SIAE T T SHEET i I WA H g wow i Ry g 2
% (R) : Trepe 27t o wa ® woa Tt # i it 3 2 |
39dwa <t FoEl g d, PFafaRae dd Pra g 2 2

R
Options :

A) 3R Tl (R), (A) st T sgrean
91394364077, (R) 3H1 7t & 74T (R), (A) it &l 21

(A) 3R (R) gt 9t 2, g (R), (A) Wt sarem 76 2 |
912942364078,

(A) Tt 3, W (R) Teid 2 |
91394364079,

(A)Teid B, W (R) T B |
91394364080,

Question Number : 121 Question Id : 91394316308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following does nof represent Neo-Malthusian viewpoint ?

Options :
Women may like to escape the pangs of birth.
91394364081. ¥ Sl
Marriage, child bearing and rearing may be looked upon as serious hindrance to their
aspirations and personal freedom.
91394364082,
Educated and employed women, especially those in white-collar jobs have a point when
they say that conception and birth to babies bring some physical deformation and make
SigouscarRg Pemanatmchye:
Because of women exclusion from power and from access to safe reproductive technology,
many women have more children than they otherwise wish.
91394364084,

Question Number : 121 Question Id : 91394316308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

frefofiaa @ |/ SR Fa-wrevarg gieeson o sfoffea 78 @ 2

Options :

91394364081.

91394364032.

91394364083.

91394364084.

nfyerd vaa frer A s =rEd | |

faarz, o=t ey et it STeh1 YTSH-9I90T S Bt SR arreniamtedt il sufsara Taasat s U8 § s
FEYH TGS EHAT S |

fifére it sl aiemd, @@ = = Fife A w0 T S FE areh, s 97 Faedt § £ miuro
AR = 91 0 W I TR i e ST R, A SRl aa A gH Ean 8 |

g IR gulda s Srenfrferat | wfgenstt o ¢ g & HR0, 3 Aieemd 19t 3ot | Jftre Tl
5w ot |

Question Nuinber : 122 Question Id : 91394316309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following is Life table survival ratio from age 15 to

age 60 ?

(g, Ly, Ty and gy are life table functions)

Options :

913943640855.

Len
Lis

leg

913394364086, ll5

Teo

91394364087, U5

leo

913943640838. 415

Question Number : 122 Question Id : 91394316309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
159 60 98 hi 3y e, FAfciiaa 4 ¥ HF-A1 Siad AR ITEiiaar 39
3 ? (I, Ly, Ty, 3R q Sfiaq @rofl s 2)

Options :

91394364085.

Len
Lis
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len
91 394264086, 215

Teo
91394364087, l15

lgp
91394364082, 415

Question Nuinber : 123 Question Id : 91394316310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the following concepts as given in List I with their description in List II.
List I List IT
(a) Carrying capacity (i) Size of population that produces the best results
according to chosen end targets

(b) Physiological density (ii) Number of individuals of a species an environment
can support

(¢) Rural depopulation (iii) Number of persons per unit of arable land

(d) Optimum population (iv) Decline in size of rural population in the wake of
out-migration

Code:
Options :

91394364090. (a)—(D), (b)), (e)(iv), (d)—(iii)

91394364001 200 (b1, (0-(1¥), (-

e o

Question Number : 123 Question Id ; 91394316310 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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et 19 & 3 srauronstt g 11 % foy e 399 faawi | firem fifvm |

gt I T I
(a) T84 FH B HUGT (1) TAGSA Bl 98 ABR T T4HG GG 5 AT TG
g 24T &

(b) TEREFITHS T (i) T TSIl o &l = G fod aiEsr 9uor o= 9ehat &
(¢) Tl SHEE B (iii) FEr fft it e s ) saf¥aat B gem
(d) TCTH IGEAT  (iv) TS o 0 Arfior IEEar % AHR S

%
Options :

91394364000, B (b)), (e-(iv), (D)D)

grssasgaggy ooy (o), (o-tiv), (D

sissnasipes R DR 00, {d-0)

Question Number : 124 Question Id ; 91394316311 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

The term ‘depopulation’ refers to

Options :

91394364093, A reduction in natural increase in an area

A decline in in-migration to a place
91294=264094. E

Rural-urban migration in an area
91394364095,

An absolute decline in population size of an area
91394364096,

Question Number : 124 Question Id ; 91394316311 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
SAaEE-sE 9e H Y B

Options :

feredt gereh <t rpferen g @

91394364093,
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91394364094, et S SfTe A

91394364095 TRl e & oot kot

foret 3atTeh <t SHEE AR | O
91394364096,

Question Number : 125 Question Id : 91394316312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following statements depicts the function of ‘Greenhouse gases’ ?

Options :

They trap heat and do not radiate.
91394364097,

They trap heat and re-radiate upwards.
91394364098,

They trap heat and re-radiate downwards.
91394364099,

They do not trap heat.
91394364100,

Question Nuinber : 125 Question Id : 91394316312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Frafafad | @ H-91 Fua Wigea bt  wrl i guiar 2 ?

Options :

91394364097 < ST i T R/ U oAt 2 37 74 falofa 7 it € |

S FEHT I Gt R AR it g A Fh I 1 faforf S 2 1
91394364098,

& AT Ot R U At g R A" R R e a fafeRa st 7 |
91394364099,

01394364100, 3 oM I O TR IHA T |

Question Number : 126 Question Id ;: 91394316313 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which among the following measures the tempo of urbanisation ?

Options :
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Percentage of urban ulation
91294=24101. = ECE

Ratio of urban ulation size to rural ulation size
91384364102, POP PoP

Rate of change in urbanisation
91394364103,

Ratio of urbanisation of a State to the urbanisation of the country
91394364104,

Question Number : 126 Question Id : 91394316313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

freafafiaa # @ sa-ar wrleson i fe St v 2 2
Options :

vzl SaE W wfavh
91394364101,

Tl SEEt AR IR yrfior SHEE SR i AT
91394364102,

Frérertor o afgds it =
91394364103,

foreft Trsa % FdieRoT 2K 3@ 39U S T i A
91394364104.

Question Number : 127 Question Id : 91394316314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following components of population change need to be projected to use
“Components Method of Population Projection” for projecting Uttar Pradesh’s population to
the year 2021 ?

Options :

Fertility onl
91394364105, ty only

Mortality onl
91384364106, oy

Fertility and mortality onl
913894364107. H O

Fertility, mortality and migration
91394364108. o o &

Question Number : 127 Question Id : 91394316314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

q¥ 2021 # IAT TG < TGS S YHITHA * T “Seen vEver 6t ues faf” % v g
saen Tiads % Frafafas 4 @ fra wos =t wafta $6 6t sravmsa § 2

Options :

91394364105.

Fad Jeaal
91394364106

Faa yasiiear ik
91394364107, el

st geran i SeeH
913943641083, '

Question Number : 128 Question Id : 91394316315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the internationally celebrated days shown in List I with their dates shown in List II.
List I List II

(a) World Population Day (i) Aprilll

(b) International Women’s Day  (ii) June 21

(¢) National Safe Mother's Day  (iii) March 8

(d) International Yoga Day (iv) July 11

(e) World Health Day (v) April 7

Code:
Options :

91394364109 {a}_{lv:l: '[:b)—{lll), (C}—{l), '[d)—(]]}, (E)—<V}

91394364110, (a)—(ii), (b)—(iii), (e)—(v), (d)—(i), (e)—(iv)

91394364111 {a-}_(lv:l: (b)_(l}: (CJ—'[:I].I), (d)—(]]}, (E)—(V}

91394z6a11z U B, @D, (A, (e)lv)

Question Number : 128 Question Id : 91394316315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T 1% AT ¥ 4 7R S 9 feat i gEt 16 3R ol @ e i )
qetl gt I

(a) Tava o fgaa (i) 11 30=

(b) ofqusdla wfgen femm (i) 217w

(¢) Tsfa gl g foam (i) 8 WS

(d} mmm (i‘l?) 1133"§
(e) Toes wre fom (v) 78

R
Options :

1304364100, BV ()=, (D), (D), ()(v)

91394364110, (a)—(ii), (b)—(iii), (e)—(v), (d)—(i), (e)—(iv)

sigeazeary] - - (oD, (-0, (e)-(v)

91394364112, (a)-(iv), (b)), (e)(1), (d)iii), (e)(v)

Question Number : 129 Question Id : 91394316316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the following events as given in List I with the years of their implementation in

List I1.
List I List 11
\a). HERS (i) 2015-16
oy Shde (i) 2000
(¢) Family Planning Programme in India  (iii) 2016
(d) Second Population Policy of India (iv) 1952
Code:
Options :
x b +a i d "
sisadsgaifg b G, (D, (d-lv)
: 'b 233 x d -
slEsEaarLy TR LD
Lyl s b - aaa d -
grsgazgayys -y (-, (e-UD, (d-(v)

sisensgaie O () (-0, (d-Uv)
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Question Nuinber : 129 Question Id : 91394316316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

=t 1 Frafafaa gestt 1 g= 11 % 379 @rL 31 % 99 | B R |

Tt I it 10
(a) TH.UH.TE.09.-4 (1 2015-16
(b) TH. 1S W, (i) 2000

() ¥ # gfEr FaeT srlsn (i) 2016
(d) Wrg A fedfa smaen s (Gv) 1952

%2
Options :

sisgazgayyy - -, (0L, (d)-lv)

siasasaanig oS- e, (-

91394364115, (a)—(ii), (b)—(1), (e)iii), (d)—(iv)

sy oAb (-, (d)-(i

Question Number : 130 Question Id : 91394316317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to A.R. Omran’s epidemiological transition theory ‘Age of degenerative and
man-made diseases’ form which number of transition ?

Options :
91394364117, 1 st Transition

9159436411y econd Transition

a1sgas6ayle oaxd Transition

91394z6410g: — ourth Tranaition

Question Number : 130 Question Id : 91394316317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR, A H eRifshraifera g cad & smar Sy ok ama-sita i & gr pa
S 1 TFAT § ?

Options :
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91394364117, aH

fedfrar wsmm

9139436411838

g Gshuor

91394364119

=qed AT

91394364120

Question Number : 131 Question Id : 91394316318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Open birth intervals are likely to be

Options :

Longer than closed birth intervals
91394364121.

91394364102 porter than closed birth intervals

About the same length as closed birth intervals
91394364123,

Uncertain depending upon socio-cultural values
91394364124.

Question Number : 131 Question Id : 91394316318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

qad 1 que o Freafafas o @ w0 gR f awa g 2
Options :

T F{qUE o 92
913943641721, = i

T HAqUA d B
91394364122, 8 &

T AU = AT TR
91394364123, 8 w

qrTfoieh-areHfae * Afafraa
91394364124, Ll W

Question Numnber : 132 Question Id : 91394316319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following Ministry/Department/Institution takes lead in making population
projection for India ?
Options :

Ministry of Health and Family Welfare
91394364125,

Office of Census Commissioner and Registrar General’s Office
91394364126.

International Institute of Population Sciences
91394364127.

Planning Commission/NITI Aayog
91394364128,

Question Number : 132 Question Id : 91394316319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

W %l SHae & w3 § Frafafas o @ fea wrea/favm/aerm 6 wga i adt g 2

Options :
ey ug YRER Semor gerer
91394264125,

ST g 3R TRt W wEted
91394364126,

A e AT UTgeNH e

91394364127.

91394364128, ST AR S

Question Numnber : 133 Question Id : 91394316320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion (A) : India reports crude death rate that is even lower than that in many
developed countries.

Reason (R) : India has witnessed significant decline in death rates during the last century.
In the context of these two statements, which one of the following is correct ?

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
913943641289,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394364130,
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(A) is true, but (R) is false.
913942641=1.

(A) is false, but (R) is true.
91394364132,

Question Number : 133 Question Id ; 91394316320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

ST (A) : YT A it gy QW ovs RsRm S A gamdwa § |
a% (R) : wia # Rrodft warsd & geg <O o St +ft amg ] |
Sudaa o ol & Ged f, Fffag A d Prmadi 2 2

R
Options :

A) 3R Tl (R), (A) st T sgrean
91394364129, (R) 3H1 7t & 74T (R), (A) it &l 21

(A) 3R (R) gt 9t 2, g (R), (A) Wt sarem 76 2 |
912942364130,

(A) Tt 3, W (R) Teid 2 |
91394364131,

(A)Teid B, W (R) T B |
91394364132

Question Number : 134 Question Id : 91394316321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following disease burden can be reduced by reducing the level of air
pollution ?

Options :

91394364133, leAara

Dengue
91394364134, B

Respiratory disease
91394364135, =~

91394364136, Crolera

Question Number : 134 Question Id ; 91394316321 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Freafafad 9 @ fora W WR 1 91y Tquo % T d FH A A TR s A 2 2
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Options :

91394364133.

91394364134.

913942364135, n

&l

91394364136.

Question Number : 135 Question Id : 91394316322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following was the thrust of the ‘cafeteria approach’ adopted by the
Government of India for family planning purpose ?

Options :

Provided choices in contraceptives
91394364137,

Emphasis on traditional methods of birth control
91394364138,

Emphasis on spacing methods
91394264129,

Emphasis on terminal methods
91394364140,

Question Numnber : 135 Question Id : 91394316322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

VTG TR g0 IRER fAaism & saismned <79me g Shefan sifnmy’ i e iR fafafaa € @
fera T o 2

Options :

n¥fdtersht % fahed Se™ FET
91394364137

dafa-farg % aroeafis ade WSk
91394364138,

913943641389. WA W F R IR

T} < Tl T AR
91394364140.
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Question Nuinber : 136 Question Id : 91394316323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following has propounded the ‘Dual Labour Market Theory’ in the context
of international migration ?

Options :

91394364141, Ik

91394364140, assen

91394364143, 'V allerstein

91394364144 °T¢

Question Number : 136 Question Id ; 91394316323 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

fr=fefas o @ feaa o weom & wed # Cu s s fagra’ =t sftrares e 2 2
Options :

91394364141.

91394364142,
91394364143,
9139432364144,

Question Number : 137 Question Id : 91394316324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following combinations is correct as sources of information on age at

marriage ?
Options :
Census, SRS and Demographic Surveys
91394364145,
Census and Demographic Surveys
91394364146,

Census, Demographic Surveys and Service Statistics
91394364147,
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Census, SRS, Demographic Surveys and Service Statistics
91394264148,

Question Number : 137 Question Id : 91394316324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ryame 1 o & TR o ¥ B 3 w9 3§ Prefefe § @ Sem g w12
Options :

SITOET, T, AR UG, I iR gdam
91394364145,

91394236414¢. ¥ W

ST, SHITphIY T 3R ot wifesh
91394364147,

ST, T, ARG, , iR adavr i dar gifesh
91394364143,

Question Number : 138 Question Id : 91394316325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion (A) : Maternal deaths in India have drastically come down after implementation
of Janani Suraksha Yojana (JSY).

Reason (R) : There is substantial increase in institutional delivery during implementation of
JSY.

In the context of these two statements, which one of the following is correct ?

Code:
Options :
Both (A) and (R) are true and (R) is the correct explanation of (A).
913943641489,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394364150.
(A) is true, but (R) is false.
91394364151.
(A) is false, but (R) is true.
91394364152,

Question Number : 138 Question Id : 91394316325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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ST (A) : S G AT (S.TE. 913, ) % HRET-IIA % I9ET WRA | |iq Hidl o g q
atcafiren FHt o1TE 2 |

@ (R) : S R AT 3 Hiai-aa B QI GedTTd SaE H wata Ifg EE R |

I9aa o HYHl & G #, Fefofas d a smadi 2 2

%2 :
Options :

A) 3R (R 9T (R), (A) i T& =arEan
cisadniitay SNCCRIRT TR (W), (4w 21

(A) 3 (R) 31 Tt €, T (R), (A) i wdt =amem &1 |
91394364150,

A) A R)Tcd = |
912943264151, (RHE, T ) !

(A)Ted 8, g (R) Tt 2 |
91394364152,

Question Number : 139 Question Id ; 91394316326 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Which shape of Age-Specific death rate curve generally matches with the mortality
situation of developed countries ?
Options :

“J’ sha
91394364153. ped

Inverted ‘J’ sha
913894364154, pad

‘U’ sha
91394364155, PR

Inverted ‘U’ shaped
91394364156,

Question Number : 139 Question Id : 91394316326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

amy-fafiree e X 9 T h s srsfa amr=ra: fasfra <o < ey o fefa @ A @rdt 2 2

Options :

\TJ?
91394364153.

35ét APl

91394364154.
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U arrpfe

91394364155.

3edt U amgfa

91394364156,

Question Number : 140 Question Id : 91394316327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is/are true about the ‘target free approach’ adopted for family
planning programme by the Government of India ?

(i) It has adopted a top down approach
(ii) It has adopted a community need based approach
(iii) Collection of detailed population data

Choose the correct answer from the code given below :

Code:

Options :

Only (i) and (ii) are true
91394364157.

Only (ii) and (iii) are true
91394364158.

Only (i) and (iii) are true
9139436415%.

Only (ii) is true
91394364160.

Question Number : 140 Question Id : 91394316327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YR TR 3R 9iER Faism sk % forg srame 7T ‘aeg gaa it & 9R 7 fafofas @ |
HH-T/R TE /8 ?

() Tau Tfid X d Frew o i AR ftem Ft 1w ™ R
(i) o ArEIRes Srea snuTia StfSra St st T 2
(iii) Torega SFATOR STTRSH T HURT

frer e e e # | T W =6 g
6

Options :

01394364157, T © ¥ (D W T
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91394364158, R (1) 3 (i) T 2

91394364159, () 3 (i) T 8

et G
91394364160, (i) 7 3

Question Number : 141 Question Id : 91394316328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is the lowest population size category of the villages identified

by the Census of India 2011 ?
Options :
91394364161 <00
91394364162 <200
91394364163, <500
200
91394364164,

Question Number : 141 Question Id : 91394316328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Freferfas & & -t w6t sror, 2011 R sitsnfya et S =Eon sHaEm srer Aof § 2

Options :

91394364161 <00

91394364162 <200

91394364163, <500

91394364164 <200

Question Number : 142 Question Id : 91394316329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If rate of population growth per annum is 2-0 percent (r = 2%), then approximately how
many years will it take to double the population size ?

Options :
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91394364165. 2

91394364166. 12

91394364167, -

91394364163 14

Question Number : 142 Question Id ; 91394316329 (Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

afe, sae g i | 2.0 vfowa vl 98 (r = 2%) B, T T a8t & g SFEE 9 WO
gt et 2

Options :

91394364165. #

91394364166, 12

91394364167, -

91394364168, 14

Question Number : 143 Question Id : 91394316330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is nof correct about PCPNDT Act in the country ?

Options :

PCPNDT Act prescribes 3 years jail for advertisement relating to pre-natal determination of

91394384169, o

The Act prescribes for punishment to couples opting for pre-natal determination of sex.
91394364170,

The Supreme Court banned pre-natal sex determination advertisements in search engines.
91394364171.

National Inspection and Monitoring Committee (NIMC) is constituted to identify illegal

advertisement for promotion of pre-natal determination of sex.
91394364172,

Question Number : 143 Question Id : 91394316330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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q il .t R @A, sifufem % ar A Peafofas 3 @ wnad 7@ €2
Options :

6.4 9. w314, arfafm 9 yaa-gd fom fafor 3 g3 fasmem 5 foe 3 9 % Sta =t yam@ 2 |
91394364169

T8 arftfam o yaa-gd fom Fufor =@ are et 3 foe g 5t e 2 )
91394364170,

e e 3 g9 dori 1 waa-gd fom e % Rt At st e 2
91394364171,

yga-gd ferrr Frafor < sgrn 33 9w ety Rl A vgeE w0 T wsdi e ok e

afife (o) s e mn 2
91394364172,

Question Number : 144 Question Id : 91394316331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following set of data is required to compute exact “Net Reproduction
Rate” ?

Options :

ASFR, sex ratio at birth and survival ratios of female babies from birth to each reproductive

age.
91394364173,

GRR, sex ratio at birth and survival ratios of female babies from birth to each reproductive

age.
91394364174.

GRR and survival ratios of female babies from birth to age 15 — 49 years.
91394364175,

ASFR, sex ratio at birth and survival ratios of female babies from birth to age 15 — 49 years.
91394364176,

Question Number : 144 Question Id : 91394316331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g “Faa w1 00 f mom % for FeafaRas § @ fra siest ayg Y savasa St R 2

Options :

T.UH.TH. 3R, 57 o aud foim 3rara 3fk 970 & Aot Tekeh S 3T o wiferent Rt i

FaTattfarat g
91394364173,

IR, I % T fort rara oft o7 @ Ao Yt S A 9 sferent et it Iasiferar

913394364174.
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I IR, 3 570 @ AR 15 — 49 ¥ Y A1 7 aiferent figgett w1 sushifaar s

91394364175,
T.UH. 5. AR, 50 % aud o our ok 570 & o9 15 — 49 99 3t 1 9 wiierepr Rmgedt
St
91394364176, I
Sub-Section Number: 3
Sub-Section Id: 913943822
Question Shuffling Allowed : Yes

Question Id : 91394316332 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (145 to 150)
Question Label : Comprehension
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Table : Demographic and Health Indicators of India and Major States
(taken from HMIS portal of NHM).

Sub questions

Neo Natal
S. | Mortality | i | cMr | MMR | TFR | o
No. | tate Rate 2016 |2016 |2016 |2016 |2015-2016
(NNMR) (NFHS-IV)
2016
INDIA 24 34 39 130 2-3 47-8
1 | Andhra Pradesh 23 34 37 74 1-7 694
2 | Assam 23 44 o2 237 2:3 370
3 | Bihar 27 38 43 165% 3-3 23-3
4 | Chhattisgarh 26 39 49 e 2-5 o045
5 | Gujarat 21 30 e 91 2-2 43-1
6 | Haryana 22 33 37 101 2-3 59-4
7 | Karnataka 18 24 29 108 1-8 21-3
8 | Kerala 6 10 11 46 1-8 20-3
9 | M.P. 32 47 o0 173%% 2-8 49-6
10 | Maharashtra 13 19 21 61 1-8 62-6
11 | Odisha 32 -4 o0 180 2:0 45-4
12 | Punjab 13 21 24 122 1% 66-3
13 | Rajasthan 28 41 45 199 27 930
14 | Tamil Nadu 12 17 19 66 1-6 52-6
15 | U.P. 30 43 47 201%= | 31 317
16 | West Bengal 17 25 27 101 1-6 57-0
(1) * MMR of Bihar includes figure of Jharkhand
(ii) ** MMR of M.P. includes figure of Chhattisgarh
(iii) i MMER of U.P. includes figure of Uttarakhand
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Question Numnber : 145 Question Id : 91394316333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
How many States have lower NNMR than India ?

Options :
913942364177, .
91394364178.
913943641783.
91394364120. 10

Question Number : 146 Question Id ; 91394316334 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
How many States have higher difference (in points) between IMR and CMR than India ?

Options :

4
91394264181,
91359436413¢Z.

2
91394364185.
913594564134.

Question Number : 147 Question Id : 91394316335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
How many States have higher CPR than India ?

Options :

91394364135. 10

91394364188, 12

91394364157, 1

91394364133.
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Question Nuinber : 148 Question Id : 91394316336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
How many States have CPR higher than India and TFR same or higher than India ?

Options :

51
9138456418689,

4
91394364190,

3
91384564191

6
913845641592,

Question Number : 149 Question Id ; 91394316337 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
How many States have lower CPR than India and equal or higher TFR than India ?

Options :

91394364193, 1

91394364194.

91394364195. 1

91394364196, 2

Question Number : 150 Question Id : 91394316338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
How many States have lower difference (in points) between IMR and CMR than India ?

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all
candidates.
Options :

9129424197, 13

913943641 983. -

913943641989. 14
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91394364200. 12

Question Id : 91394316332 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (145 to 150)
Question Label : Comprehensi-:sn
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Sub questions

EEE L E3i e e
s | s (T Q) |o1re. um. o1 [ofi. 0. 31| un un 31 [A.0% 31| 2015 — 2016
(U0, 0, 2016 2016 2016 2016 | (UA.U%.TH.
IN.) 2016 tH.-IV)
TR 24 34 39 130 2-3 47-8
1 |31y wew 23 34 37 74 1-7 69-4
2 [31Em 23 44 52 237 2-3 37-0
3 [ 27 38 43 165% 3-3 23-3
4 BTG 26 39 49 5 2:5 545
5 [ 21 30 33 91 2-2 43-1
6 [giemom 22 33 37 101 2-3 59-4
7[R 18 24 29 108 1-8 51-3
8 [ 6 10 11 46 1-8 50-3
9 |4 32 47 55 173%% 2-8 49-6
10 IR 13 19 21 61 1-8 62-6
11 [sffsam 32 44 50 180 2-0 45-4
12 [@SE 13 21 24 122 1-7 663
13 [OSEIH 28 41 45 199 27 535
14 [aferrg 12 17 19 66 1-6 52-6
15 3.9 30 43 47 20155 | 31 31-7
16 [. s 17 25 27 101 1-6 57-0
(1) * fagr & WL R, 0 gEs % sTiks it 2
(ii) # [ Y, & 0.0 AN, T SAENG & He M 2
(iii)  *** 3.9, % UH.UH. AN, 4 IqCEE & 3The YA 2
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Question Numnber : 145 Question Id : 91394316333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fora T=E1 A TRE i ge § AR R LR, R 2

Options :

91394264177, i

91394364173.

91394364179,

91394364130. 10

Question Number : 146 Question Id ; 91394316334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

fohe A1 % o1 TR, IR HL LR, % 9 1 A WRa A gt § = (fagadt 9) 2 2

Options :

91394264181,

91394364132.
913943641853.

91334364184,

Question Number : 147 Question Id : 91394316335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fre Tt & o, W Y ga J SwEa R 2

Options :

91394364185. 1

91394364156. 12

91394364187, 11

913943641383.
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Question Nuinber : 148 Question Id : 91394316336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fordm Tt | IR h gor | oL TR, st o € uw. TR, it I At | 2

Options :

91394364189.
91394264190,
91394364191.

91394364192,

Question Number : 149 Question Id ; 91394316337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

fera Tt st L STR. Wi B gE ® B g S 4L UL, A1 9t WG S Ut § A it 2

Options :

91394364193.
91394364194,

9139426419G.

91384364196,

Question Number : 150 Question Id : 91394316338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ford Tt % o7, WM, iR ot w91, % ot wid ot gorn 9 Pt ofat (fergatt #) 2 2

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all
candidates.
Options :

91394364197, 13

913943641 983. ®

91394364199, 14
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91394364200. 12



